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we,wp, 0000000ON =3000000000000000000 R(ua, us)
gooooobo3ennoooooa

R(ui1,u22) Pz

R(u1,
R(Uu, U21) (ull u23)

R(ui2,u21) R(ui2,ug2) R(ui2,us3)

b

R(U137 Uzl)

R(U137 U22)

P;

0 36:30000000000000000000 R(ua,u9) 000

A;000000000DO0DOOCOOOOD 3.60000 R(uie, uw) 00
00000 (D00oO0)00D000000U00O000 E. 000000000
0000000000000 00000O00O0o0oooooooo (3190
gboooooao

Se
Zwawb(1+ula){o'ifie(ula7U2b)+0jfje(u1a7U2b)+0'kfke(ulayu2b)} (3.19)

0 @17000000 A,;0000000000000O00000000O0
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0000000000000 000O000O0 320000000000000

Ay oo Al,n 01 |41
= : (3.20)
Anl et Ann On Vn

0000000 (3.200000000000000DOU0OO0O0O0O0OO 0100y,
obooboooooobooo

ooo0oo o0, 0000000000 (3.19y 0000000000
gobgobooboobgoobooobobooboobooboooobo
goboboooboobooboobooboaoboobooooooabo
0000000000000 U000oOooO000OU (o 3noooooooo
00000O00o0ooo (320000000

mN?2
T—T:

E(r)=> ¢—— (3.21)

|r — 3

uobqguuoboobuoobtdr,0dbooooagogad

Calculation point

® Imagenary charge

------ » Effect from imaginary charge

U3rno00obO0obooooobobooooobooboonoa
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3.2.2 0O00O0O0O000000DOO00bOO00O0

C++000o0poDo0poooo0bDO0bO0bDO0oDoDOooooooooDoOoonog
0oodooboobooooooobobbooooooobobbooooooo
goodooboooooooo

0000000000000 00000O00o0oDO (3.22) 0000000
1 Vin — Vout
r10g(rin) — log(Tout)
000 r0000000007,,1:000,000000000V;,, Voue O
00,0000000000000 38000000074, = 1.0[mm],reu =
2.0[mm], 00 10jmm] 0000000 Vi, = —1.0[V],Vow = 1.0[V] D0 D O
goodobbobbouoooooobbboooodubbbboouooooo
gooooono 39 uoobuoooobuooooboa
ooodoo 100000000000 bobooo11booon
gdoddooooooobobobboooooooobobobooooooooo
gooon

E(r)=-—

(3.22)

0.002 X\Qlfectjo

— K 'I]

0.002 —-0.001 /11111;, /
0.000

mess Calculation point

PN
S
Q\ 0.001 0.001

S
X
& 0.000
A

< -0001

z-direction[mm]

038 00booooboobooogooan
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Error [%]

~15)
g
g
>—2.0r
o]
o)
=
2
=
525!
m
SO0 T2 14 e 18 20
r—direction [mm]
039 00000000000000000
[ [ )
05" ]
I [ ]
[ )
| [
00" .'OOOoooooo.o... i
~05! ]
10 12 14 16 18 20

r—direction [mm)]

0310 00000000
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3.3 Uuouooon

3.3.1 2000000000

20000000000DO0O00O0C0O0OO0O0OO0OOOOOOODbOODbOn
gbooboobooooboboooobooooboboooobooon
gboboogooobooboboobooboooboobooboooobooooo
booooboooobOoboooobooooboobooooboon
gooooao
oboooooobooooooboobooogbobooooobooogoooo
ooooooooooo (o 3110

y
A

® node

— element Electrode surface

l » X
0 311: 00000000000000000O (o0)

00000000000000e000000E.(e=1,---,m)00000
0000000000:000000PR (Gi=1,---,n,)000000000
0000 (X;,Y;) 00000000 ;0000

000000000000000 (03110000 2,y)00000000
0000000000000000000000000000000000
0000000000000000000000000000000000
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go0o0oo0ooooooboooooooboooooooooooooooono
gdooobooooooooooooboono
00 Pi,PjDDDDD E. 0000000 O'e(.%‘,y)DD (3.23)DDDD
oood
oe(®,y) = fie(z,y)oi + fie(x,y)0; (3.23)

2,y0000000000000000000000000000 (z,y) 0
00000000000 fi,f;e0 (z,y) 0000000000000000
00000 (0 3.12)0

oe(x,y)

(X3, Y5) (X5,Y5)
0 3.12: 00 P,P;00000 E. 000000000000

00 E, 0000 P,P,0000000 04,0, 00 fie,f; 00000 (3.24)
ooooooooon

o = 0(Xi,Y5) = fie(Xi, Yi)os + [je(Xi,Y5)0;

o = 0c(X;,Y)) = fie(X;, Y))oi + fie(X;,Y))o; (3.24)
00000 fi,f;e 00 (3.25) 000000000000000

fiE(Xi7 }/7/)

=1 (3.25)
fie(vaYj)ZO fj@(Xjan):

00000 E. 0000000 (2,9) 000000 u(-1<u<1)0000
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00 (3.26)000000QoOo0g

1—u 14+u
X, X,
2 Ty
- 1
yw) = i+, (3.26)

(z,y) 00 (3.26) 0000000 fie(x,y), fie(z,y) DO (3.27),(3.28) 0O
ooo

1—u

fie{w(u),y(w)} = —— (3.27)
fie{z(u),y(w)} = 1;” (3.28)

0 (3.27),(3.28) 000 (3.25) 000000000000 313000000 u
00000000000000000

fie fje

0313: 000 (-1<u<1)0000 fi, f7.00

000000000000 0O00000000 o(x,y) 000 (3.12) 000
0000 (3290000000000

o(z,y) =Y 0 Y fielz,y) (3.29)
i=1 e=1

000000 E. 000 PRO0O0O0OO0ODOOO fie(z,y)=000000 (3.29)
oooooobobooooooboboboooobooboooobon
oboooooboobOoooooooobooboboooooboobooooo
gboooobobooooobooooboboon

(r,y) DOODOUOOODOOOOODOOOO ANODOOODO(X,Y)OOOOO
000000oO00oooo (3.30)00oooo

39



Vi(z,y)

% [log{(m - X))+ (y— Y)Q} — log{(z — X)? 4 (y+ Y)2}} O
— AF(z,4,X,Y) (3.30)

000000000000 06 =-00000000 F(z,y,X,Y)0
0 (3.31)000000

F(m,y,X,Y):%[Zog{(x—X)2+(y—Y)2}—log{(x—X)2+(y+Y)2}]

(3.31)
00000 (X,-Y)0OUOoOUOOoOoUOoOoUooOoOd 000000000
000 (3.32)00000o0oooon

Viey) =0 (V@-XP2+{y-Y)? - o) (3.32)

00000000000o0Oooo (3.30)00000n (3.33)00o0ooo
gboooooogooboo

V(z,y) = /F(m,y7X, Y)dx = /F(sc,y,X, Y)odl (3.33)
00000000 pO00000000 V;00O00O0O (3.349)0ooooo

m

= Z@Z/fje(X,Y)F(Xi,Yi,X,Y)dl
j=1 e=1"le

m

n
= E Ujg Aije
j=1 =1

= 3 Ayo, (3.34)
j=1
Aije,A4;; 000000 (3.37),(3.36) 000000
Aije = / fie(X,Y)F(X,,Y;, X, Y)dl (3.35)
le
Ay = D Aue (3.36)
e=1

j0o0o0000o0o00AO000 P,O00000C00CO0O00O00 E.000
000000 p0000000000000A4,;;000 0000000
000000000 pO000O0O0O0O0O000A,,.00000000
ooooo
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A,;00 33700000 «w000000O000DODOOODOOOODOOD
gboooooooboo

Ayye = / J3o(X,Y)F(X,, Yi, X, Y)dl

le
L / e (X (). Y () F(X,, Y3 X (), Y (1))
N

= ey wified X (un), Y (w) (X0, Yi, X (ur), Y (ug)} (3.37)
k=1

NODODOODOOOOOOOOOO0OwO00000w,0000000[,00
(374)0000000

e =\/(Xi = X;)2 + (¥ - ;)2 (3.38)

0000 (3.27),(3.28) 00 (X (uz),Y(u)) 000 (3.39),(3.40) 000000

1—u 14+u

X(u) = — R X+ 5 b X, (3.39)
1—u 14+u

Y(ug) = oYt 5, (3.40)

N=3000000000000000000 (X(u),Y(u) 00000
003140000000

Y

0314:30000000000000000000 (X(ug),Y (u)) D00

A;,000000000000003140000 (X(w),Y(w))00000
0000000000000000000D00000000 E. 00000
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gbooooboooobOoboooobobooobooboooOobooon
A 00 (341) 0000000000

Mo = leoi fied X (u), Y (ur) } + leoj fie{ X (ur), Y (ur) } (3.41)

0 (3.36),(3.37) 0000000000000 0O0O0OODOO0O0OOOOOOO
00000000000 (342)00000U0ooood

App o A o1 |4
= (3.42)
Anl e Ann On Vn

00000 342)0000000000 U, 0000000 OOOOO

oo0o0uoo o0, 0000000000 (341)0000000OOOO
gboboboooooobooooooobobobooooooboooooon
gobooooobooooboboooobooooboboooboobooo
000000000000 0000000ooooO (3.43),(3449)0000
ooo

mN 1 1

By = 30 - X»( + L+) (3.43)
mN
_ y+Ye y-Y

By = >4 ) (3.44)

000 Ly,L_000000 (3.45),(3.46) 0000000
Ly=(x—-X)"+(y—Y)° (3.45)
L= (x— X+ (y+ ) (3.46)
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y—direction [m]

3.3.2 20000000000O0000O0OO

C++00200000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000r, = 10.0[mm],rew = 20.0[mm]
0000000V, =-1.0[V],V,w =10V]0 0000000000000
0000000000000000000000000000000 3.160
000000000000000000000000000003.170000
00000000000000000040000000000020000
0000000000000000000000000000

100002 T el T
S ", Calculation point
100001} s
® Node
1000.00 ——
999.99) . S
~0.02 ~0.01 0.00 0.01 0.02

x—direction [m]

0 315:200000000000000000000000AO
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Electric field [V/m]

—-160

—-180

—-200

-220

—-240

-260

—-280

—— Analytical solution

®  Surface charge method

12

0.0166797

0.0166797

X 00166797

Error |

0.0166797

0.0166797

0.0166797

14 16 18
r—direction [mm)]

0316 0000n00ooooobooogn

12 14 16 18
r—direction [mm)]

o317 0b00o0o0ooao
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3.4 FourierUODQOOQOOOUOOOOO

00000000000 ¢(z,y) D0Fourier 0000 0O0OOOOOOOO
0 B347)00000OOOOOO

¢(z,y) = ¢(r0)
= i(%)n{cncos(nﬂ)—|—Dnsin(n€)} (3.47)
n=0

Fourter 0O OO C,,D, 000000000 347)000000000O0O0O
gboobooboobooboobooboobooboobooboobobogoo
goodobbobbooooooobbbotooooubbbboouooobo
0000000000 0o0bobo0oobuobooobOobonbdFourier

goboboboobooobooboobooo
000¢C,00000000000000000 (3.47) 0000 cos(mb)

Doooo-—r<é<mOO0D0OOODOOO

/Tr i (;)n{cncos(n@ + Dnsin(nG)}cos(mﬁ)dﬁ
T n=0

) o(r,0)cos(mb)do

—T

;¢mmw4wmez a(;y/:wfmmw (3.48)
0000 (348)0000000000 (349),(3.50)00000
/ " sin(mf)cos(md)dd = 0 (for any n.m) (3.49)
/ " cos(nb)cos(mf) = 0 (n£m) (3.50)

0000 (3.48)0000 (351) 000000000000

TF 2r n=20
/ cos?(nf)do = (3.51)
T n#0

—T

n

DDDDDDDCM&DDDD(E>fﬂwﬁmmeDDDDRmemD
0000000000 .00000000000000000000000
000D0¢(r,d) 000000000000000000000000000
0000000000000000000000000000000000
[17]00 (3.48)0 ¢, 00000000000000000000000 nO

ooo cc,0opooooooooo

45



D, 0000000000000 O00OD0OO (3470000 sin(nd) 000
O0-7r<6<7s0000000000O (352)0000

o(r,0)sin(mb)df = /7r i (;)n{C’ncos(RG) + Dnsin(ne)}cos(ne)dﬁ
T =0

—T

o(r,0)sin(nf)dd = D, (;) / sin?(n6)do (3.52)
0 (352)0000 (3.53) 000000000000
n 0 n=0
/ sin*(n@)dd = (3.53)
- ™ n#0

0ooo0oop,O0 ¢, 00000000000000

000 Fourler 1000 0000000000000000000000
000000000 Fouer 00000000000 31800000000
00000000000000000000000 +£1[V]00000000
0000000000000000000000000000000000
000 (347)00RO0O000000D000r=08RO0O00C,,D, 00
00000 3100000Feuwier 00000 ¢, 000000000000
00 2,y000000000000000000 (347)000000000
03540000000

2
o(r,0) = Cg(;) cos(20) O
r\’ 2 2
= CQ(E (cos 0 — sin=0) (3.54)
0000 (3.55),3.56)000000000000O0O0O0O

cos = % (3.55)
sing = 2 (3.56)
r
0000 (3570000
o(r,0) = oé(z,y)
= @iggf (3.57)

0357 0000000000000 0000000OUDO0OUON z,yO0OO
gboooobooooboboooobooooboboooboobooon
goooooooo

46



y[mm]

100010
-1[V]
TosaesT node
@® Calculate potential with
2D surface charge method
S 0.8ro .
+1 [V] Pl 100000 —> ¢+ | [V]
~0010 20,005 o 0,005 0010 X[mm]
-1[V]

0 3.18: Fourier OO OO0OODO

Cp=0.000  C1=0.000 C3=1.000  C5=0.000
C4=0.000  C5=0.000 Cs=0.000  C7=0.000
Cs=0.000  Cy=0.000 C;p=0.000 C1;=0.000
C12=0.000 C13=0.000 C14=0.000 C15=0.000
C16=0.000 C17=0.000 C;8=0.000 C19=0.000
Dy=0.000 D;=0.000 D2=0.000 D3=0.000
D4=0.000 Ds=0.000 Dg=0.000 D=0.000
Dg=0.000  Dy=0.000 D1p=0.000 D;7;=0.000
D;2=0.000 D;3=0.000 D;4=0.000 D;5=0.000
D16=0.000 D;7=0.000 D;3=0.000 D;9=0.000

O 3.1: Fowier OO OOODOODO
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3.5 UUoopggdg

3.5.1 OUO0O0Oooooooon

gboooobooooboboooobooboooobooboooooban
gbooboobooooboboooobooooboboooobooon
oooooboooooooooooboooooobooooooooooboooo
booooboboooooboboooobooboooobOoboooooobo

0319bo0booooooooooonb :0b00booboboooboogoo
0000 (Element) 000000000

yA

0319 000000b0000000b000000

032000000000000000000000000000000 (Node)
00000000000000000000000e000000 E, (e=
1,---,m)000000000000000:000000P(Gi=1,---,n)
0000000000000 (R;,Z)00000000 ;0000
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—— Electrode surface

e Node

T r

032000000000

000000000000000 (03200000 7200000000
0000000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
00000000000000000000

00 P,P;00000 E, 0000000 o.(r,2)00 (3.58)0000000

0e(r,2) = fie(r,2)oi + fie(r, 2)0; (3.58)

oo0o0O0o0ooOobOo0o0O00O0oooO0oD sOOOOQOD ANOOO XN=
2rRe 000000000000 (359)00000000O0O0UOOUOOOO
gbooboobooooboboooobooooboboooboobooon
obooooobobooobobooooobooog

Ae(r,2) = fie(r, 2)Ai + fie(r, 2)Aj (3.59)

r,000000000000O00O00O0O00OOOOOOOOO0 (r,2)00
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0000000000 fi,f0 (r2)00000000000000000
0o0oo0 (0 3.21)0

Ae(r, 2)

Y ——. 5

(Ri, Z;) (R, Zj)
0O 3.21: OO Pi,PjDDDDD E. 00000000000

00 F. 0000 Pi7Pj[|[|[||:|DD )\i»)\jl:ll:lfz‘mfjeDDDDD (3.60)[|
gpoooooodg
Xi = Ae(Ri, Zy) = fie(Ri, Zi)Ni + fie(Riy Zi) )
i = Ae(Rj, Zg) = fie(Rj, Zj)Ni + fie(Ry, Z5) A, (3.60)
DDDDDfie,fjeDD (3.61)DDDDDDDDDDDDDDD
fie(Ri, Z;)
fie(Rj, Z5)

00000 E 0000000 (r,2) 000000 u(-1<u<1)0000
00 (3620000000000

1 fie(Ri, Z;)
0 fie(Ry, Z5)

0
(3.61)
1

1—u 1+u
1-— 1
) = — “Zi+ ;UZ]» (3.62)

(x,y)00 (3.62)0000000f(2,y), fie(x,y) 00 (3.63),(3.64) 00000

1—u

fie{r(),2(w)} = — (3.63)
fie{r(u), z(w)} = 1;“ (3.64)
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O (3.63),(3.64) 000 (3.61) 000000000000 3.22000000 w
gboooobooboooooooobo

f’ie fje

0 322: 000 (-1l<u<1)00O00 fi, fie0 O

00000000000000000UO0nD AMr2) 000 (36500000
ooooo

Ar2) =Y N Y fielr2) (3.65)
i=1 e=1

000000 E. 000 ROODOOOOODO fie(r,z)=000000 (3.65)
gboooobooooboboooobooooboboooboobooon
gboooooboooobobooooboobooboboooboobooo
obooooooboooooooboooooon

;0000000000000 0O000 AO0D0Q00ODOO (R, X)0OD0OOO
0000000o0o0ooo 366) 000000

_ - K(kl) o K(k2)
V) = 2miA NS ECEVAE V(T+R)2+(z+2>2}

AF(r,z,R, Z) (3.66)

0000000000 g O EO:ﬁDDDDDDDD KOD1o0o000O0
000000000 k,kk0D0000ODO (3.67),(3.68) 0000000

4rR

kL = \/(r oy P (3.67)
4rR

ky = \/(r TRE G127 (3.68)

o1



01000000000000 352000000 F(r,z,R,Z)00 (3.69)
goooog

K (k1) - K(k2) }
\/(T+R)2—|—(Z—Z)2 \/(T+R)2—|—(z—|—Z)2
(3.69)

000000000000 (R,—2)000000O0O0OOOOOOOO 2=0
oooboooooobooooooooobo poobobooooob v;ooooo
0 @.70)000000

F(r,z,R,7Z) = 27TR{

Vi = V(Ri,Z;)

= ZAJ-Z/ fie(R, Z)F(R;, Zi, R, Z)ds
j=1 =1 %e

n m

= 2N Ay

j=1 =1

— S A (3.70)

Jj=1

Aije,A; 000000 (3.71),(3.72) 000000

Aije = / fje(Ra Z)F(R“ZZ,R, Z)ds (371)
Ay =) Aije (3.72)
e=1

Ay 000 PO0000O0O00O0OOOO0 £, 000000000 OO0
0000000000A4,;000 0000000000 OOO0OO0 B
0000000000000 4,, 0000000000000
A;00 (3.71)00000«w000000000O0O00OCOOOOOODO
oooooooooboo

Ajje = /fje(R7Z)F(RZ-,Zi,R7Z)ds

S

L / e (R, Z(0) (s, 24, B(w) Z(w))d
N

- leZwkfje{R(uk)vz(uk)}F{RiﬂZiaR(uk)7Z(uk)}
k=1
(3.73)

NOOOOODODOOOoOoODOoOOOOwOOOOO0w, 0000000700
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(3740000000

L =y/(Ri - (Z: — 7;)? (3.74)

0000 (3.63),(3.64) 00 (R(ux), Z(w,)) 00O (3.75),(3.76) 000000
Rluy) — 1_2“’“RZ-+1+2“’CRJ- (3.75)

Zuy) = 1_2“’“Zi+1+2“’“2j (3.76)

N=3000000000000000000 (R(u),Z(w)000000
03230000000

z

(R, Z;)

(Ri’Zi)

0323 30000000000000000000 (R(ux), Z(ugx)) D00

A;00000000000000 3230000 (R(uk),Z(up))00000
000000000000000000000000 E.00000000
0000000000000000000000000000000 MO
0 @770000000000

Me = leifie{ R(ur), Z(ug) } + lej fie{ R(uk), Z(ug)} (3.77)

O (3.72),(3.73) 000000000000 OOOOOOOOOOOOO
0000000000 38.78)00000OUoOoooOO

= (3.78)
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00000 3.7M)0ouoooouo 0N, 000000000000
oooo0o 0N 0000000000 365) 00000000000
ooooooobooooobobooooboobooboboooobooo
obooooboooooboboooobooooboobooboobooon
00000000oO0oU0Oo0oooUooooooo (3.79),3.80)000000O0

R g R [{RE 1+ (2= Z)?YE(k) — {(r — R)? + (2 — Z)*} K (1)
Er(rz) =2 [ TR+ (zZ0)%(r— RO)? + (= — Z,)? -
{fit2 — 7"2 + (Z + Zt)Q}E(k'g) — {(’I“ — Rt)2 + (Z + Zt)2}K(k‘2)
VI +R)? + (2 + Ze)2(r — Re)? + (2 4 Z1)?

r
t=1

(3.79)

mN
Ra (= = Z)K (k) .
Balr.z) = ; arfie {\/(r + R)?+ (2= Z)*(r — Ru)? + (2 = Zy)?
(z+ Zy) K (k2)
VI R+ (24 Zo)2(r — Ry)?2 + (2 + Zy)2
(3.80)

000 KOOOOOOOOOOOEOOOOOOOOOOOOOOOOO
00000035200000000 (3.79),(3.80)00000000000
ki, k, 000000 (3.81),(3.82) 0000000

4
by = \/ ri (3.81)

(r+ Ry)?+ (2 — Zp)?

k - 47’Rt
> T N +R2+ G+ 2,)?

(3.82)
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3.5.2 UO0,00000000DL0O0000

000000000 K(k)ODO (3.83) 0000000

/2
1«@:/‘4——ﬁi—— (3.83)
0 V1—k2sin%6
000000000 E(k)0D (3.84) 0000000
w/2
EXk):(/‘ V1 — k2sin® 0d6 (3.84)
0

go0oooooooooooooooooooooooooooo
0020 e, b000000000DO00O0DOODOOODOOOO
a+b

2
by = Vab

apg —

gboooood

Ap—1 + bn—l
2

bn = \/an—lbn—l
e = Vai -0
gooooooooon {an}7{bn}DDDD M(a,b) 0000000 M(a,b)

00020 600000000000
000000000 K(k)O

K(k)= ————— (3.85)

0ooooo
000000000 E(k)O

AE(k)::§j2ZI75%ff?z§5(1-j{jz”—lci) (3.86)

n=0

goooog
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3.5.3 UU0U0booooooboobobooooboboo

C++00000000000000000000000000000000
000000000000000000000000000000000000
0000000000000000000000000000000000000
000000000000000000000r, =1.0[mm],rew = 2.0[mm)
0000000V, =-1.0[V],V,w =10V]0 0000000000000
0000000000000000000000000000000 3.250
000000000000000000000000000003.260000
0000000000000000004000000000000000
000000000000000000000000000000

memsmms  Calculation point

z-direction[mm]

0 324:200000000000000000000000O
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Error [%]

|
—_
»~

Electric Field [V/mm]
T
> £ B S x

|
[S]
o
T

0.018015

0.018010

0.018005

0.018000

0.017995

0.017990

0.017985

10 12 14 16

r—direction [mm]

325: 000000000O00000000

20

12 1.4 16
r—direction [mm]

032600000000



3.6 UUoopgagag

00 E000O0O0O0OmOO0O0 ¢g00000000000O (387)0oo
goog

mer

dt?

000 -00000000¢+000000O0DOO0OOO»00 (387)000O

oooboooooobOo0oOoooOoOo0oooOooOooooOOo FOOOODODODOO

000000000 »00000000000000000O0ODO (3.87)00
goooboobooooboobo-0000000D00D0O

0000000000000 0000000000oooooooo (3.87)

O (3.88),(3.89) 00000000000 OOOO0ODOOOOOO
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A= — 3.107
Von (3.107)
o=n(R+r)? (3.108)
V, =V V242 (3.109)
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Vo / wr

Vo / wr

Vo / wroy
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Vylwrg

vylwrg

0.04
0.02
0.00
-0.02
004 326320.10.0 701 02703
y/ro
(b) wt = —14/157 rad
0.04
0.02
0.00
—-0.02
_0'0—40.3—0,2—0.1 0.0 0.1 0.2 0.3
y/ro
(d) wt = —8/157 rad
0.04
0.02
0.00
—-0.02
_0'0—40.3—0.2—0.1 0.0 0.1 0.2 0.3
y/ro
(f) wt = —2/157 rad
0.04
0.02
0.00
-0.02
~0035020170.0 01 02 03
y/ro
(h) wt =4/157 rad
0.04
0.02
0.00
-0.02
~0.04
00—0.3—0.2—0.1 0.0 0.1 0.2 0.3
y/ro

(j) wt =10/157 rad
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vofry

vofory

0.02
0.01
0.00
-0.01
-0.02
-0.6-0.4-0.20.0 0.2 04 0.6
Z/}’O
(a) wt = —17/157 rad
0.02
0.01
0.00
-0.01
-0.02
-0.6-0.4-0.20.0 0.2 0.4 0.6
Z/}’O
(¢) wt = —11/157 rad
0.02
o 0.01
S 000
= -0.01
-0.02
-0.6-0.4-0.20.0 0.2 04 0.6
z/ry
(e) wt = —5/157 rad
0.02
o 0.01
S 000
= -0.01
-0.02
-0.6-0.4-0.20.0 0.2 04 0.6
Z/r()
(g) wt =1/157 rad
0.02
o 0.01
3 0.00
= —-0.01
-0.02

-0.6-0.4-0.20.0 0.2 04 0.6

z/ry

(i) wt = 7/157 rad

Vz/ wr

0.02
0.01
0.00

-0.01
-0.02

-0.6-0.4-0.20.0 0.2 0.4 0,67
z/ro

(b) wt = —14/157 rad

-0.02

Vz/ wry

Vz/ wr

-0.01
-0.02

-0.6-0.4-0.20.0 0.2 04 0.6
z/ry

(d) wt = —8/157 rad

-0.6-0.4-0.20.0 0.2 04 0.6
z/ro

(f) wt = —2/157 rad

0.02
0.01
0.00

-0.6-0.4-0.20.0 0.2 04 0.6
z/ro

(h) wt =4/157 rad

-0.6-0.4-0.20.0 0.2 04 0.6
z/ro

(j) wt =10/157 rad

059 00000000000000 (z00)
87



el UOLOUOUOLOOUOLOOOODO
oot
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6.1 UUOObOOOoOoOooboobobboooooon

goboboobooboobobboobooboobooboobooboon
0000000000000 000o0o0o0ooUooo (6.)ooooooo
gbooooooono

¢(r,0,t) = (U + VeosQt) > Cy (@ncosna (6.1)
n=0

oooyuvoooOoooooooooooooooooooooaQoOoOoO
oorOO0O0OO0OOO0OO0ODODOC,0DO0DOCOCOOO0O0OOO0O0OOO
goooooOoooooooboooOoooboooOooocc,bboogooobooag
C, 000000000000 (62)000OUOO

2 2

o(r,0,t) = é(z,y,1)
r =y
CQ(U + VCOSQt)T

(6.2)
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O000oo (6.3)000000n
x
R?
Y
205(U + Vcoth)ﬁ (6.3)

E, —2C5(U + VeosQt)

E

Y

00000 ¢,000000000000000000000000000
oooo

0000000000000000000000000000C, 000
Cs, Cy, C5,...00000C,000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
000000 (64000000 [240

000 B,,8,0 2200000 Diso-0 00 0On,,n,, kODO0000 ngn, >
00000000 (64)000000000000000000000000
0000006100 k=100N=3,4,56000000000000 (0
00000)000000000k0000000000000000000
00000000000000000 ¢, 000000000000000
000 N=nn-2n-4,.,43000000000000000000C;
0000000O0ON=6,4,3000000000000000000000
NOOOOODOOOODOOOOOOOOO00000O0e=000000000
(230000000 «=00000000000000NOOOOOOOO
0¢00000000000000 (64000000
000000000000000000000000000000000
000000000000 0000000000000000000
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6.2 UUUObOUUOOOOOUOUbLbObbbOOoOogo
goooobbgn

2300000000000 00bbO0o0bOOooboOoobOOooooobooo
goooooboobooooooboboobooobooboooooooboon
oboooobooooboboooobobooobooboobooboon
gbdoboboooooooooooboboboboobooobooboooon
oooooopbooooobobooooboobooboboooobooo
oboooooooo

obobooobooooobooooboooboobooo coo0obooobooon
gbobooboboooboobooobooobboobboobooobooooo
gbooooooboooobobooooboooobobooooobooo
oboooobooooobobooooboooooboobooooboooon
00000000 0oo0oOoooo (65000000

0000000000
oooooo = .
qoooooog Y (6:5)

000000e=000¢0020000000000000000010000
0000000000000006200000000000062000
00rO0000000000000000000000000000000
0050000000000000020000000000000000
000000000000000000000000000000 #,y00
00000000000000000000000000000000
000000000000000000000000000000000
0630000000000000012000000000000000
00000000000000000003400000000 0 Fourier O
000000000000000000000000000000 Fourier
0000000000000 1.0[mm], 2.0mm|0000000000000
6162000000 6200000000000000000.3[ms]0000
0000000000000000000000000000000000
0000000 1.0mm), 2.0mm| 00000000000
000000000000 640000¢=0.000550000000000
0000000000000000000000000000000000
000000000g¢=050000000000000 1.0[mm)], 2.0[mm]
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0.10

0.05
- 7 T .,%@;.
3 0.00
L [ : ..':i;i;-&‘_,.: .
~0.05
00 2 0 02 o

X/ro

() 000DO00ODO00ODOOODOOOO 1000000000 0000000

04

0.10,
0.05}
3 0.00] —
~0.05} L
0 2 00 02 o

(b) 00DODO0ODOODOODOODOOOD 1000000000 y00O0O0DOOO

y/ro

04

062 00000000000000000O0 1000000000000£0
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Trapp efficiency [%]

Inserted electrode 2

Inserted electrode |

063 0000000000000 0O0DOODOOOOODOO

100} ‘ ‘ ‘ ‘ ]

Without inserted electrodes

1 —— Inserted electrode
thickness=1.0[mm]

—— Inserted electrode
thickness=2.0[mm]

Do 02 0.4 0.6 038
q
064: a=0000000000
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Cp=0.00000 C1=0.01716 C5=0.95702 C5=0.02294
C4=0.00000  C5=-0.02491 Cs=0.10936  Cr=-0.02462
C's=0.00000 C9=0.02217 C19=—0.08836 C11=0.01960
C12=0.00000 C;3=-0.01712 C14=0.06823 C15=—0.01508
C16=0.00000 C17=0.01317 C15=—-0.05214 C19=0.01143
C50=0.00000 C51=0.00976 C22=0.03807 Ca3=—0.00819
Dy=0.00000 D;=-0.01716 Dy=0.00000 D3=0.02294
D4=0.03428 D5=0.02491 D=0.00000 D7=-0.02462
Dg=—-0.03327  Dg=-0.02217 D10=0.00000 D1;=0.01960
D;12=0.02591 D;3=0.01712 D14=0.00000 D;5=—0.01508
D16=—-0.01996 D;7,=-0.01317 D13=0.00000 D19=0.01143
D3yy=-0.01498 D3;=0.00976 D32=0.00000 D33=0.00819

06.1: 00000 1.0mm|]0000000O FourierDOOO

Cp=0.00000 C1=0.04916 C5=0.80209 C5=0.06148
C4=0.00000 C5;=-0.06231 Cs=0.25761  Cy=-0.05573
Cs=0.00000 C9=0.04345 C(C19=—0.15677 C11=0.03068
C12=0.00000 C;3=-0.01956 C14=0.06268 C15=—0.01047
C16=0.00000 C17=0.00364 C13=—0.02552 C19=0.00156
C20=0.00000 C21=0.00486 (C22=0.01396  C3=—0.00680
Dy=0.00000 D;=-0.04916 D3=0.00000 D3=0.06148
D4=0.08907 D5=0.06231 D=0.00000 D7=-0.05573
Dg=—-0.07070  Dg=-0.04345 D10=0.00000 D1;=0.03068
D12,=0.03521 D;3=0.01956 D14=0.00000 D;5=-0.01047
D16=—-0.00967 D;7=-0.00364 D15=0.00000 D19=0.00156
Dyy=—0.00482 D5;=0.00486 D2>=0.00000 D23=0.00680

06.2: 00000 20mm0000000 Fourter 1000



6.3 UUUuoooog1

6200000000000000000O00O0OCO0DOO0OO0ODOOODOO
000 Fowrler 00000 CeOOO0OO0O0OODOOODOOOOOOOODOOO
oboooooobooooobobooooobooboobobooooboooo
Cs0DOOOODOOOODOOOODOOOOD
CsO0O0O0O0O0DODOODOOOOODOOOOOODODOOOOoOoOoOoOoDOO
gboboooooooobooboboesbobobObOobOOoOoOOn
oooboob0ob0ob0ob0obobo0o0o0o0o0On FourierOOO0QOOOO
0000 630000000000000 FourierOOOO Ced Cg< 00O
gobooobobogooboele2000000000000000D0O0O0ODOO
000000000000 0000000000Cs >00000000000
obobooooooboobooooboobobobooooobooboboooon
0000000000000 (D0)00000oO00o0od FourierO OO
00000000 00D000 Fourier 000000000 DOOODDOOO
gobooooooooooooo
oboooobooooobooboooobobooooobobooooaon
00000000000 0DO00000O00D Fourier0ODOODOODOO
Fourier 10000 Ce 0000 DOO0O00O0O0O0O0OOOOOOOOODOODO
pOODrODO00O00000O0DOOOODOOCOOOOOOOOOOODOE
obooooboooobOobooooboooobooboooOobooon
0000000000000 1.0mm)0000000000O0OOOOO0
00000000000 66000000 64000060=7/800000
r00000000 CeOOO0OO0O000Or =17.55[mm] 0 r = 17.83[mm]
oooocs0oooooooopoooooooooo0 e40ogoonon
Ce00O00DDOOr0 1755 <r<17.83mm| 00000000O0O0OOODO
0000000 Cs—-0000 00000006 =n/8,r=17.62[mm] 0
Ce0DOOOODOOOODOODOOOO
Ce0000ODOO0O0OOOOOODODOOO0ODOOOOOODODOO Fourier O
oo0ooo0es0000000Cs000ODOOOOODOD 62000000
ooobobooooboooooooboboooobobobobe200b0DbbOOODO
O000O00O00003ms|] 0000000 (6.5)000000000O0O0OOO
Oo000oO0o00ooO0O0ooooOoOOboOoO0der0oOOCsOOOO
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00000000000000000000000000000000000
00000000000000000000000000000000000
61000000 (64000000 N=3,400000000000000
0000000000000000000000000000000 Fourier
0000 G, Cx000000000000000000Cs,Cho,Cra00
000 Fowier 00 0000000000000 000O0O00O00OO00
0000000000000 000000000000
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Rod Electrode

065 0000000000000O00OO0OOO

Cp=0.00000  C1=0.00000 C2=1.17180 C5=0.00000
C4=0.00000  C5=0.00000 Cs=-0.01749 C7=0.00000
Cs=0.00000  C9=0.00000 C1p=-0.00256 C11=0.00000
C12=0.00000 C73=0.00000 C14=-0.00014 C15=—0.00000
C16=0.00000 C77=0.00000 C13=0.00000 C19=0.00000
C5,=0.00000 C5;=0.00000 C32=0.00000 C33=0.00000
Dy=0.00000  D;=0.00000 D»=0.00000 D3=0.00000
D4=0.00000  D5=0.00000 Ds=0.00000 D~»=0.00000
Dg=0.00000  Dgy=0.00000 D1p=0.00000 D1,=0.00000
D12=0.00000 D;3=0.00000 D14=0.00000 D;5=-0.00000
D16=0.00000 D;7=0.00000 D15=0.00000 D19=0.00000
D4yp=0.00000  D5;=0.00000 D4y2=0.00000 D4y3=0.00000
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gap>1.0mm 0
_» <—
e r
o-umm , 5.307mm
— e
1.0mm

ge66:00000000DO0O000OO0ODOOOOOOODOOOOOO0O0OO0
ooobooooooboo
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0 r[mm] G 0 r[mm] Gy 0 r[mm] Gy
7/2 10.00 0.01492 | #/4 10.00 0.01707 | =/8 10.00 0.11016
9.920 0.01534 10.01  0.01697 10.28  0.10390
9.841  0.01578 10.03  0.01687 10.56  0.09775
9.761  0.01622 10.04  0.01677 10.84  0.09170
9.682  0.01666 10.05  0.01667 11.12  0.08579
9.602  0.01711 10.07  0.01657 11.40  0.08003
9.522  0.01757 10.08  0.01647 11.68  0.07443
9.443  0.01803 10.09  0.01637 11.96  0.06899
9.363  0.01850 10.11  0.01627 12.24  0.06373
9.283  0.01897 10.12  0.01617 12.52  0.05866
9.204  0.01945 10.14  0.01607 12.80  0.05379
9.124  0.01994 10.15  0.01597 13.08  0.04910
9.045  0.02043 10.16  0.01588 13.36  0.04462
8.965  0.02093 10.18  0.01578 13.64  0.04034
8.885  0.02144 10.19  0.01569 13.92  0.03627
8.806  0.02195 10.20  0.01559 14.20  0.03240
8.726  0.02247 10.22  0.01549 14.48  0.02873
8.646  0.02300 10.23  0.01540 14.76  0.02525
8.567  0.02354 10.24  0.01531 15.04 0.02198
8.487  0.02408 10.26  0.01521 15.32  0.01889
8.408  0.02463 10.27  0.01512 15.60  0.01600
8.328  0.02519 10.28  0.01503 15.88  0.01328
8.248  0.02575 10.30  0.01493 16.15  0.01083
8.169  0.02633 10.31  0.01484 16.43  0.00845
8.089  0.02691 10.32  0.01475 16.71  0.00623
8.009  0.02750 10.34  0.01466 16.99  0.00417
7.930  0.02810 10.35  0.01457 17.27  0.00226
7.850  0.02871 10.36  0.01448 17.55  0.00048
7771 0.02933 10.38  0.01439 17.83  -0.00116
7.691  0.02996 10.39  0.01430 18.11  -0.00268

064000000000 Ce0OO
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Trap efficiency[%]

Cp=0.00000 C1=0.00327 C5=1.02700 C5=0.00768
C4=0.00000  C5=-0.01036 Cs=0.00006  Cr=-0.01115
C's=0.00000 C9=0.01034 C19=-0.04770 C11=0.00904
C12=0.00000 C;3=-0.00760 C14=0.03298 C15=—0.00638
C16=0.00000 C17=0.00531 C13=-0.02131 C19=0.00442
C50=0.00000 C3;=-0.00365 C22=0.01396  Ca3=—0.00230
Dy=0.00000 D;=-0.00327 Dy=0.00000 D3=0.00768
D4=0.01309 D5=0.01036 D=0.00000 D7=-0.01115
Dg=-0.01536  Dy=-0.01034 D10=0.00000 D1,=0.00904
D;12=0.01174 D;3=0.00760 D14=0.00000 D;5=—0.00638
D16=—-0.00822 D;7=-0.00531 D13=0.00000 D19=0.00442
D3p=0.00568 D2;=0.00365 D32=0.00000 D33=—0.00296

065 CeOO0O00DOODOOO0O0ODOOOO FourierOO OO
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40
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067 CsODOO0O0ODOOOODOOOODOD
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6.4 UUUOOOOOO 2

obooooo3b0oooobooboobooooboooooboobooooo
6.300000000000000ODOO0CO00O00OOOOOOOOOOODOO
oodboobO0b0ob0obobobobobOoboboOooOonog Fourier OO
OO0 csOooobobe20000000DOOOOOOOOOOOODODOOO
obboooooooooboo1,2063000000000000000OO0
030 0000000000000 000000oooooooo

OOO0Fourier 00000 CoOOOODOOOOODO 6200000000
ooobOooooboooobbOoooobobooooboo0o e1b0OOO
OO000C 000000000000 uoooO0ddNe=0000 ¢ =
0.451, 0.64, 0.78 000 U0DO0OO0OOODOOOODOOOOOODO
oooOoO00ooO0o0ooo0oopoOobD cgOoOoboboOoOoDooOge, =10
OcCs0O00ooopoooboooobo0o0oooooooooooooe8so
Oo0O0oopoooOo0O0O0O0o00OdOg csobobooooooooooon
Cy,Ce000000DO0DOOgq=0.451, 0.64, 0.78 000000000000
000 Ce<10730000000000000000000DO000000O0
gooo

0000000030 Cs<10300000000000000000
610000000000000 300000 LO00O00O0O0OO (O 6.90
CsO0O0O00ODOOOOOOODODODOODOOOOOODOOODODOOOOO
0000 70mm|000000000O00OOOOODOOOOOOO
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N 0
(=

()]
(=)

Trap Efficiency[%]
o
=)

[SSIN
oS O

F ® ® e o o ® &]

[ ] [ ]
b [ ] [ ] [ ] [ ] [ ] [ ] .;

. | @ a=0451
i o 1 @ q=0.64
i . 1 @ q=0.785
) ]
re ]
’, L L L L L
0 2 4 6 8

n (Ce=10"")

068 Cg00O0O0O0ODODOOODODO

17.7mm

3.0m) 5.307m:

069 0000000000 CsOOO
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Ce

0.005 ‘ 8

0.000’ ......00000..000000000000000000000000000004
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06.10: 0000000000 CsOOOOOOO
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6.5 UUOUOLOUOOOOUOUoOboboon

63,640 00000000000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000000000000000000000
00000000 ()0(Gv)0000000000000000000000
0000000000000000000000000000000000
0ooooooooo

()0000000000000000 (0 6.11)

(1))0000000000 (0 6.7)

(i)000000000 (O 6.8)

(iv)iDiiooo

000D00000D00Fourier 010000 CeO0000000000000
6606800000 66000000000000000000000000
0 +0.2mm|000000C;0000 ~10720000000 6700000
0000000000000 +£02mm]000000C,0000 ~10-30
0000006800000000000000000 +180°]000000
Cs0000~1040000000000000000000000000
0000000000000000000 CO0000000000000
00000000000000000000 10-}mm|000000000
00000000000000000000
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N/
2

0611: 000000000000000OO0ODOOUOOO (I0DOO0ODOO
0000000000000 0oo0ooooooooon)
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lifmm]  la[mm]  I3[mm] Cs
0.2000  0.2000  0.2000 -0.01092
0.2000  0.2000  0.0000 -0.007287
0.2000  0.2000 -0.2000 -0.002710
0.2000  0.0000  0.2000 -0.007289
0.2000  0.0000  0.0000 -0.003661
0.2000  0.0000 -0.2000 0.0009163
0.2000 -0.2000  0.2000 -0.002713
0.2000 -0.2000  0.0000 0.0009144
0.2000 -0.2000 -0.2000 0.005490
0.0000  0.2000  0.2000 -0.007287
0.0000  0.2000  0.0000 -0.003659
0.0000  0.2000 -0.2000 0.0009188
0.0000  0.0000  0.2000 -0.003661
0.0000  0.0000  0.0000 -0.00003260
0.0000  0.0000 -0.2000 0.004544
0.0000 -0.2000  0.2000 0.0009144
0.0000 -0.2000  0.0000 0.004542
0.0000 -0.2000 -0.2000 0.009118
-0.2000  0.2000  0.2000 -0.002710
-0.2000  0.2000  0.0000 0.0009188
-0.2000  0.2000 -0.2000 0.005497
-0.2000  0.0000  0.2000 0.0009163
-0.2000  0.0000  0.0000 0.004544
-0.2000  0.0000 -0.2000 0.009121
-0.2000 -0.2000  0.2000 0.005490
-0.2000 -0.2000  0.0000 0.009118
-0.2000 -0.2000 -0.2000 0.01369

066: 000000000000000O0O0O0OO0O0OO0OOO Ce(lOOO
000000O00U00oo0o0ooOooUooooooooon)
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pda 5.307

0612 00000000000000 (dO0OODOOODOOOOOOOOO
ooooooooo)
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di[mm] dg[mm] ds[mm] Cs
-0.2000  -0.2000 -0.2000 0.001534
-0.2000  -0.2000  0.0000 0.001002
-0.2000  -0.2000 0.2000  0.001490
-0.2000  0.0000 -0.2000 0.0009754
-0.2000  0.0000  0.0000 0.0004680
-0.2000  0.0000  0.2000 0.0009803
-0.2000 0.2000 -0.2000 0.001436
-0.2000  0.2000  0.0000 0.0009528
-0.2000  0.2000  0.2000 0.001490
0.0000 -0.2000 -0.2000 0.001021
0.0000  -0.2000 0.0000  0.0004772
0.0000 -0.2000  0.2000 0.0009528
0.0000  0.0000 -0.2000 0.0004865
0.0000 0.0000 0.0000 -0.00003260
0.0000  0.0000  0.2000 0.0004680
0.0000  0.2000 -0.2000 0.0009725
0.0000 0.2000 0.0000 0.0004772
0.0000 0.2000 0.2000 0.001002
0.2000 -0.2000 -0.2000 0.001528
0.2000 -0.2000  0.0000 0.0009725
0.2000  -0.2000 0.2000 0.001436
0.2000  0.0000 -0.2000 0.001017
0.2000  0.0000  0.0000 0.0004865
0.2000 0.0000 0.2000 0.0009754
0.2000 0.2000 -0.2000 0.001528
0.2000  0.2000  0.0000 0.001021
0.2000  0.2000  0.2000 0.001534

067 000000000000000O0O0O0OO Ce(d0OOOOOOOO
00o0oU0ooooooooooo)
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0613 000000000000000O00¢OOOOOOOOOOO
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0.7 6:[] 5[] Co
-18.00 -18.00 -18.00 0.0003674
-18.00 -18.00 0.00  0.0002435
-18.00 -18.00 18.00 0.0003442
-18.00 0.00 -18.00 0.0001736
-18.00 0.00 0.00  0.00009014
-18.00 0.00  18.00 0.0002323
-18.00  18.00 -18.00 0.0002059
-18.00  18.00 0.00 0.0001617
-18.00  18.00 18.00 0.0003442

0.00 -18.00 -18.00 0.0002237

0.00 -18.00 0.00  0.00008041

0.00 -18.00 18.00 0.0001617

0.00 0.00 -18.00 0.00007031

0.00 0.00 0.00 -0.00003260

0.00 0.00  18.00 0.00009014

0.00 18.00 -18.00 0.0001442

0.00  18.00 0.00  0.00008041

0.00 18.00 18.00 0.0002435

18.00 -18.00 -18.00 0.0003069

18.00 -18.00 0.00 0.0001442

18.00 -18.00 18.00 0.0002059

18.00 0.00 -18.00 0.0001926

18.00 0.00 0.00 0.00007031

18.00 0.00 18.00 0.0001736

18.00  18.00 -18.00 0.0003069

18.00  18.00 0.00 0.0002237

18.00  18.00 18.00 0.0003674

068 000000D0O0OO0ODOOOOOO0ODOOO CcsbeOODDODOO
good
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37
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39
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41
42

000000 9.1: imaginary 2D.cpp0 000000000 O0O0O0DODOOO

#include <stdio.h>
#include <iostream>
#include <math.h>

using namespace std;

//0000

#define NG 5//0 000000000000
#define N_ele 1500//0 00

#define N_node 1500//0 00

#define N_image NGxN_ele//0 00000
#define EPS 1.0e—5//00000000000

//0000000

int element[N_ele][2];//00000000

double node[N_nodel[2];//0 0000000

double x[NG],w[NG];//0 0000000000

double charge_density[N_image];//00000000000000000O0O

//00000000000

int get_element();//00000000

int get node();//00000000

double get_boundary(double V_node[]);//0000000000

void gauss(int m);//0000000000000O0O0O0O0O0O

double cal_Aijl(int i, int k);//00000000

double cal_Aij2(int i, int k);//00000000

void cal-imaginary(double charge_nodel]);//0 000000000000

//00000000000O0000000D0OO

void DATAIN(const char name]], int nr, int nc,double ma[|, double Aij[][N_node]);//0 0

gooocoooao

void DATAIN2(const char name[], int nr, int nc, double mal], double V_node[]);//0000

oooogd
int PIVOT (int *num, int nr, int k, double ma[]);//0000000

int GAUSS(int nr, double mal[], double mbl[], double mx[]);//0 00000

//00000

int main()

{
//00000000000

get_element();

get_node();

//000000000000000O0
gauss(NG);
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43
44
45
46
47
48
49
50
51
52
53

55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87

//0000000000
static double Aij[N_node][N_node|={0.0};
for (int k=0; k<N_ele ; k++)

{
for (int i=0; i<N_node; i++)
{
int k1,k2;
kl=element[k][0]—1; k2=element[k][1]—1;
Aijfi][k1] += cal_Aij1(i,k);
Aij[i][k2] += cal _Aij2(ik);
}
}

//0000000000000O0

int nr=N_node,nc;

int flag;

static double ma[N_nodexN_node];
double mb[N_node],charge_node[N_node];
ne=nr;

DATAIN("Aij",nr,nc,ma,Aij);
double V_node[N_node];
get_boundary(V _node);
DATAIN2("V_node",nr,1,mb,V _node);
flag=GAUSS(ur,ma,mb,charge node);
if(flag) printf("\n 00 0 O \n");

//00000000000O0O0OO0CCCO00

cal_imaginary(charge node);

//00000000000000O0O0O0O0O0
FILE *fp;

fp = fopen( "charge_density.txt", "w" );
if( fp == NULL )

{
puts( "0000000000\n" );
return 1;

}

for(int j=0; j<N_image; ++j)

{
fprintf( fp, "%16.161f", charge_density][j]);
fprintf( fp, "\n" );

}

fclose( fp );
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95

97
98
99
100

102
103
104
105
106
107
108
109
110
111

113
114
115
116
117
118
119
120
121
122
123
124
125
126

return 0;

//00000
int get_node()

{

FILE *fp;
char 1Buf[512],*p;
if ((fp = fopen("node.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_node; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "Luouu" );
for (int n=0; n<2 && p!=NULL; n++) {
sscanf( p, "%1f", &node[m][n] );
p = strtok( NULL, " uuuu" );

}
fclose(fp);

return 0;

int get_element()

{

FILE *fp;
char 1Buf[512],*p;
if ((fp = fopen("element.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_ele; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "Luuouu" );
for (int n=0; n<2 && p!=NULL; n++) {
sscanf( p, "%d", &element[m]|[n] );
p = strtok( NULL, "yuuun" );

}
fclose(fp);

return 0;

132 void gauss(int m)
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133 {
134
135
136
137
138
139
140
141

143
144
145
146
147
148
149
150
151
152

154
155

166
167
168
169
170
171

173 }
174

if (m==2) {
x[0]=—0.5773502691896257;
x[1]=0.5773502691896257;
w[0]=1.0
w[l]=1.0;
}
if (m==3) {
[0]=—0.7745966692414834;
x[1]=0.0;
x[2]=0.7745966692414834;

X

w[0]=0.5555555555555556;

w[1]=0.8833888883888888;

w[2]=0.5555555555555556;
}
if (m==4) {
x[0]=—0.8611363115940526;
x[1]=—0.3399810435848563;
x[2]=0.3399810435848563;
x[3]=0.8611363115940526;

w[0]=0.3478548451374538;
w[1]=0.6521451548625463;
w[2]=0.6521451548625463;
w[3]=0.3478548451374538;

0]=0.2369268850561892;

1]=0.4786286704993664,;

2]=0.5688888388888889;

w[3]=0.4786286704993664;
]

w|4]=0.2369268850561892;

175 double cal_Aijl(int i, int k)

176 {
177

int k1,k2;
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178 double sum=0.0;

179

180 kl=element[k][0]—1;

181 k2=element[k][1]—1;

182

183 double le=pow(pow(node[k1][0]—node[k2][0],2.0)+pow(node[k1][1]—node[k2
111],2.0),0.5);

184

185 for (int a=0; a<NG ; a++)

186 {

187 double Xuk=(1.0—x[al])/2.0xnode[k1][0]4(1.0+x[a])/2.0xnode[k2][0];

188 double Yuk=(1.0—x[a])/2.0xnode[k1][1]4+(1.0+x[a])/2.0xnode[k2][1];

189

190 double fie=(1.0—x[a])/2.0;

191

192 double F=(log(pow(node[i][0] —Xuk,2.0)+pow(node[i][1] - Yuk,2.0))—

log(pow(node[i][0] —Xuk,2.0)+pow(node[i][1]+Yuk,2.0))) /2.0;

193

194 sum=sum-+lexw[a]xfiexF;

195 }

196

197 return sum;

198 }

199

200 double cal_Aij2(int i, int k)

201 {

202 int k1 k2;

203 double sum=0.0;

204

205 kl=element[k][0]—1;

206 k2=element[k][1]—1;

207

208 double le=pow(pow(node[k1][0]—node[k2][0],2.0)+pow(node[k1][1]—node[k2
1[1],2.0),0.5);

209

210 for (int a=0; a<NG ; a++)

211 {

212 double Xuk=(1.0—x][a])/2.0%node[k1][0]4+(1.0+x[a])/2.0#node[k2][0];

213 double Yuk=(1.0—x[a])/2.0«node[k1][1]+(1.0+x[a])/2.0%node[k2][1];

214

215 double fie=(1.0+x]al)/2.0;

216

217 double F=(log(pow(nodeli][0]—Xuk,2.0)+pow(node[i][1]— Yuk,2.0)) —log(pow(

nodel[i][0]—Xuk,2.0)+pow(node[i][1]+Yuk,2.0))) /2.0;
218
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219 sum=sum-+lexw]a]fiexF;

220 }

221

222 return sum;

223 }

224

225 void DATAIN(const char name[], int nr, int nc, double ma[], double Aij[][N_node])
226 {

227 int i,j;

228 for (i=0; i<nr; i++)

229 {

230 for (j=0; j<nc; j++)

231 {

232 mal[ncxi+j|=Aij[i][j];
233 }

234 }

235 }

236

237 void DATAIN2(const char name]], int nr, int nc, double mal], double V_node][])
238 {

239 int i,j;

240 for (i=0; i<nr; i++)

241 {

242 for (j=0; j<nc; j++)

243 {

244 mal[nc*i+j]=V_nodeli];
245 }

246 }

247 '}

248

249 int PIVOT(int *num, int nr, int k, double mal] )
250 {

251 int i;

252 double aa,bb;

253

254 snum=Kk;

255 aa=fabs(ma[nrxk—+k]);

256 for (i=k+1; i<nr; i++)

257 {

258 if (fabs(ma[nr*i+k])>aa)

259 {

260 *num=i;

261 aa=fabs(ma[nrxi+k]);
262 }

263 }
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264
265
266
267
268
269
270
271
272
273
274
275
276
277
278
279
280
281
282
283
284
285
286
287
288
289
290
291
292
293
294
295
296
297
298
299
300
301
302
303
304
305
306
307
308

if (fabs(aa)<=EPS) return 1;
if (*num==k) return 0;
for (i=k; i<nr; i++)

{
bb=ma[nrxk-+i];
ma[nrkk—+i]=ma[nr(xnum)-+if;
ma[nr*(knum)+i]=bb;

}

return 0;

int GAUSS(int nr, double ma[], double mbl[], double mx|])
{ int i,j,k;

int num;
double cc;
for (k=0; k<nr—1; k++)
{
if (PIVOT(&num, nr, k, ma)!=0) return 1;
if (num !=k)
{
cc=mb|[num]; mb[num]|=mbl[k]; mb[k]=cc;
}
for (i=k+1; i<nr; i++)
{
cc=ma[nrkxi+k]/malnrxk+k];
for (j=k+1; j<nr; j++)
ma[nrxi+j]=ma[nrxi+j]—ccxma[nrsk+jl;
mbli]=mbli]—cc+mblk];
}
}
for(k=nr—1;k>=0;k——)
{
if (fabs(ma[nrxk+k])<=EPS) return 1;
cc=0.0;
for (j=k+1; j<nr; j++)
cc+=ma[nrxk+j|*mx][j];
mx[k]=(mb[k]—cc) /ma[nrxk+k];
}
return 0;

double get_boundary( double V_node]])

FILE xfp;
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309 char 1Buf[512],*p;

310

311 if ((fp = fopen("boundary_condition.txt","r")) == NULL){

312 fprintf(stderr,"0 000000000 \n");

313 return 1;

314 }

315 for(int m=0; m<N_node; m++ ) {

316 fgets( 1Buf, sizeof( 1Buf ), fp );

317 p = strtok( 1Buf, "yuuun" );

318 sscanf( p, "%1f", &V _node[m]);

319 p = strtok( NULL, "Luuu" );

320 }

321 fclose(fp);

322 return 0;

323

324 }

325

326 void cal_imaginary(double charge nodel[])

327 {

328 for (int k=0; k<N_ele; k++)

329 {

330 for (int a=0; a<NG; a++)

331 {

332 int i,k1,k2;

333 i=kxNG+a;

334 kl=element[k][0]—1;

335 k2=element [k][1]—1;

336

337 double le=pow (pow(node[k1][0]—node[k2][0],2)+pow(node[k1][1]—
node[k2][1],2),0.5);

338

339 charge_density[i|=lexw[a]*(charge_node[k1]*(1.0—x[a])/2.0+
charge_node[k2]x(1.0+x[a])/2.0);

340 }

341 }

342 }
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® MO

-~ node.txt

0.889999451693655122
@.089997806834748456
@.809925065603657316
©0.089991228300988584
0.089986295347545738
0.089980267284282716
@.00997314477224458
@.009964928592495044
0.08995561%6460308
0.089945218953682734
@.889933727656003965
0.009921147013144779
0.009907473404714436
0.009892723329629883
0.009876883405951378
@.00985996037070505
@.0098419560792692418
0.009822872507286888
0.009802711746217219

1000.0001047178412
10600.0002094241988
1000 .0003141075907
1000.02004187565373
1000.0005233595624
1000. 0006279051953
1060 .0007323819713
1000 .0008367784333
1000.0009410831332
1000.0010452846327
1000.0011493715049
1000 .0012533323356
1000.0013571557243
1000. 0014608302856
1000. 0015643446504
1000 .0016676874671
1000.0017708474032
1000.0018738131458
1000.0019765734038

o, |

2

091: 000000000 nodetxtO00 (0 OOOOOOODO)

| element.txt

LNV RWN g
Woo N oWV A WD
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092: 000000000 element.txt00 (0O0D0OOOOO)



®&NOo | boundary_condition.txt
-1
-1
-1
-1
-1
-1
-1
-1
-1
-1
-1
-1
-1
-1
-1

-1

4

N e e
(&)

N

0 9.3: 000000000 boundary_condition.txt 00 (00 O000O00O0O)

®&No | charge_density.txt
0.0011510506434352 m
0.0013681167921882
0.0011510506425007
0.000569783759317@
0.0005697837591766
0.0011510506418004
0.0013681167906306
0.0011510506415146
0.0005697837589385
0.0005697837587201
0.0011510506411095
0.0013681167902120
0.0011510506415012
0.0005697837520464
0.0005697837598943
0.0011510506437204
0.0013681167937309
0.0011510506448115
0.0005697837608032
0.0005697837599363
0.0011510506426993

[,

094000000000 chargedensity.txt00 (0 O0O0OO00OO0O0O)
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OOoo0o0O0 9.2: field2D.cpp0 0000O0O0O0O0OOO

#include <stdio.h>
#include <iostream>
#include <math.h>

using namespace std;

//00000000

#define NG 5//0 000000000000
#define N_ele 1500//0 00

#define N_node 1500//0 0 O

#define N_image NGxN_ele//00 0000
#define N_cal 25//0 000

//0000000

double charge_density[N_image];//00000000000000000O0O
int element[N_ele|[2];//0 0000000

double node[N_node][2];//00000000

double x[NG],w[NG];//0 0000000000

//0000000000

int get_element();//00000000O

int get_node();//00000000

void gauss(int m);//000000000000000O0OO

double get_calpoint(double keisanten[][2]);//0 00000000

double get_imaginary();//0 0000000000

void cal_field(double E[2],double keisanten[|[2],int i, int n);//0000000

//00000

int main()

{
//0000000
get_element();
get_node();
gauss(NG);
get_imaginary();
double calpoint[N_cal][2];
get_calpoint(calpoint);

(/000000000000 0000000
FILE *fp;
fp = fopen( "field.txt", "w" );
if( fp == NULL )
{
puts("000O00OO0DOO" ),

return 1;
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85
86
87
88
89

//0000000000000000000
for (int i=0; i<N_cal ; i++)

{
double E[2]={0.0,0.0};
cal_field( E, calpoint, i, 0);
fprintf( fp, "%16.161£,", E[0] );
fprintf( fp, "%16.161£,", E[1] );
fprintf( fp, "\n" );
}
fclose( fp );
return 0;
}
(/00000
int get_node()
{
FILE *fp;
char 1Buf[512],*p;
if ((fp = fopen("node.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_node; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "ol );
for (int n=0; n<2 && p!=NULL; n++) {
sscanf( p, "%1f", &node[m][n] );
p = strtok( NULL, "uuuu" );
}
}
fclose(fp);
return 0;
}

int get_element()

{

FILE xfp;
char 1Buf[512],*p;

if ((fp = fopen("element.txt","r")) == NULL){

fprintf(stderr,"0 000000000 \n");

return 1;
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90 }

91 for(int m=0; m<N_ele; m++ ) {

92 fgets( 1Buf, sizeof( 1Buf ), fp );

93 p = strtok( 1Buf, "yuuun" );

94 for (int n=0; n<2 && p!=NULL; n++) {
95 sscanf( p, "%d", &element[m|[n] );
96 p = strtok( NULL, "uuuu" );

97 }

98 }

99 fclose(fp);

100 return 0;

101 }

102
103 void gauss(int m)

104 {

105 if (m==2) {

106 x[0]=—0.5773502691896257;
107 x[1]=0.5773502691896257;
108 w[0]=1.0;

109 w[1]=1.0

110 }

111 if (m==3) {

112 x[0]=—0.7745966692414834;
113 x[1]=0.0;

114 x[2]=0.7745966692414834;
115

116 w[0]=0.5555555555555556;
117 w[1]=0.8888888888888888;
118 w[2]=0.5555555555555556;
119 }

120 if (m==4) {

121 x[0]=-0.8611363115940526;
122 x[1]=—-0.3399810435848563;
123 x[2]=0.3399810435848563;
124 x[3]=0.8611363115940526;
125

126 w([0]=0.3478548451374538;
127 w[1]=0.6521451548625463;
128 w[2]=0.6521451548625463;
129 w[3]=0.3478548451374538;
130 }

131 if (m==5) {

132 x[0]=—0.9061798459386641;
133 x[1]=—-0.5384693101056830;
134 x[2]=0.0;
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135 x[3]=0.5384693101056830;

136 x[4]=0.9061798459386641;

137

138 w[0]=0.2369268850561892;

139 w[1]=0.4786286704993664;

140 w[2]=0.5688888888888889;

141 w([3]=0.4786286704993664;

142 w[4]=0.2369268850561892;

143 }

144 }

145

146 double get_imaginary/()

147 {

148 FILE *fp2;

149 char 1Buf_2[512],%p2;

150 if ((fp2 = fopen("charge_density.txt","r")) == NULL){
151 fprintf(stderr,"0 000000000 \n");

152 return 1;

153 }

154 for(int m=0; m<N_image ; m++ ) {

155 fgets( 1Buf_2, sizeof( 1Buf 2 ), fp2 );

156 p2 = strtok( 1Buf_2, ",,," );

157 sscanf( p2, "%1£", &charge_density[m]);

158 p2 = strtok( NULL, "uuu" );

159 }

160 fclose(fp2);

161 return 0;

162 }

163

164 void cal_field(double E[2],double calpoint[][2],int i, int n)

165 {

166 for (int k=0; k<N_ele; k++)

167 {

168 for (int a=0; a<NG; a++)

169 {

170 int t,k1,k2;

171 t=kxNG+a;

172 kl=element[k][0]—1;

173 k2=clement[k][1]—1;

174

175 double Xuk=(1.0—x[al])/2.0xnode[k1][0]4(1.0+x[a])/2.0xnode[k2][0];
176 double Yuk=(1.0—x][a])/2.0%node[k1][1]4+(1.0+x][a])/2.0#node[k2][1];
177

178 double Lp=pow/(calpoint[i][0] —Xuk,2.0)+pow(calpoint[i][1]— Yuk,2.0);
179 double Lm=pow(calpoint[i][0]—Xuk,2.0)+pow(calpoint[i][1]4+Yuk
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,2.0);

180

181 E[0] += (charge_density|t])*(calpoint[i][0] —Xuk)*(1.0/Lm—1.0/Lp);

182

183 E[1] += (charge_density[t])*((calpoint[i][1]+Yuk) /Lm— (calpoint[i][1] —
Yuk)/Lp);

184 }

185 }

188 double get_calpoint(double calpoint][2])

189 {

190 FILE *fp;

191 char 1Buf[512],*p;

192

193 if ((fp = fopen("calculation_point.txt","r")) == NULL){
194 fprintf(stderr,"0 000000000 \n");
195 return 1;

196 }

197

198 for(int m=0; m<N_cal; m++ ) {

199 fgets( 1Buf, sizeof( 1Buf ), fp );

200

201 p = strtok( 1Buf, "Luouuu" );

202 for(int n=0;n<2;n++){

203 sscanf( p, "%1f", &calpoint[m][n]);
204 p = strtok( NULL, " uuuu" );
205 }

206 }

207 fclose(fp);

208 return 0;

209 }
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®NO _ calculation_point.txt
0.010769230769230769 1000 ;
0.011153846153846155 1000 M)
0.011538461538461539 1000
0.011923076923076923 1000
0.012307692307692308 1000
0.012692307692307694 1000
0.013076923076923078 1000
0.013461538461538462 1000
0.013846153846153847 1000
0.01423076923076923 1000
0.014615384615384617 1000
0.015000000000000001 1000
0.015384615384615385 1000
0.01576923076923077 1000
0.016153846153846154 1000
0.01653846153846154 1000
0.016923076923076923 1000
0.01730769230769231 1000
0.017692307692307695 1000
0.01807692307692308 1000
0.018461538461538463 1000

i, 4

095 000000000 calculation_point.txt 00 (00O00D0000OO)

e | field.txt

-267.9737688002330650 ©.0000000009364960 .
-258.73329407177504829 0.0000000013865753 T
-250.1088509360119758 @.0000000016678352
-242 .0408234864483177 ©.0000000018925373
-234.4770477524947125 ©.0000000020942533
-227.3716826690833273 0.0000000022819067
-220.6842802376378359 0.0000000024569829
-214.3790150879899556 @.0000000026193960
-208.4240424466549655 0.0000000027722578
-202.7909602183663367 ©.0000000029143837
-197.4543560020932773 0.0000000030468433
-192.3914237969095211 ©.0000000031705377
-187.5816382019841342 @.0000000032856656
-183.0064762946177268 ©.0000000033928250
-178.6491792399820611 0.0000000034928333
-174.4945471646302053 ©.0000000035858935 e
-17@0.5287620017950871 ©.0000000036726096
-166.7392339573075049 ©.0000000037519044
-163.1144630017106907 ©.0000000038235109
-159.6439474059194197 0.0000000038872910
-156.3180318349265860 @.0000000039377907

i, |4

096 000000000 fieldtxt0D0O (DOOODOOOODO)

135



9.2 UJUObObUOoOoOoOooUbobboogo

ODO00o00OO00ooOO0boD0o0DOO000O0000 C++00000 imaginary_rotation.cpp
0000000930 0000000000000 C++00000 field_rotation.cpp
0ooooooe40000

imaginary_rotation.cpp 0 000000000000 OODOODOODOODO
gooooooooooooOoOooDObObObOOObDbbObObObOOoOooooooo
node.txt 0 element.txt 0 000000000000 OOODOO boundary_condition.txt
0000000000000 nodetxt0000,00000000000000
r,z0 000000 Oelement.txt 0 boundary_condition.txt 0000000
000000000000 00000D000000Oimaginary_rotation.cpp [
OoOoO0oDDoOO0O000O0 charge_density.txt 0 0O O O O Ocharge_density.txt
009400000000000D00D0O0DOODO0OOODOODOOOODOODn
obooooooooooo

0 O O Ofield rotation.cpp 0 O O O O O Ocharge_density.txt O caluculation_point.txt
0000000000000 00000000D000D0 fieldtxt0 0000
00 O caluculation_ point.txt 00000000000 OCOO,0000000
0000000doooodd rz00D00D00O0O00OO00O00O field.txt O
oooooobooobbooOoo,00boo0obbo0obooorobooobD,zO00O
gooooo
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30

31
32
33
34
35
36
37
38
39
40
41

googddnd 9.3: imaginary rotation.cppU OO OOOOOOOOOOO
oood

#include <stdio.h>
#include <iostream>
#include <math.h>

using namespace std;

//00000000

#define NG 5//0 000000000000
#define N_ele 1998//0 00

#define N_node 2000//0 0 0O

#define N_image NG«N_ele//0 000000
#define EPS 1.0e—5//0 0000000000

//0000000

int element[N_ele][2];//0 0000000

double node[N_node][2];//00000000

double x[NG],w[NG];//00000000000

double charge_density[N_image];//0000000000000000O00O0O0

//00000000000

int get_element();//00000000O

int get node();//00000000

double get_boundary( double V_nodel]);//0 000000000

void gauss(int m);//000000000000000O0OO

double cal_Aijl(int i, int k);//00000000

double cal_Aij2(int i, int k);//0 0000000

void cal_imaginary(double charge_node[]);//0 000000000000

//000000000000O0O0O0O0O00CCCOO0

void DATAIN(const char namel], int nr, int nc,double ma[], double Aij[][N_node]);//0 0

gooooooo

void DATAIN2(const char name]], int nr, int nc, double ma[], double V_nodel]);//0 00 O

gooogo
int PIVOT(int *num, int nr, int k, double mal]);//0000000

int GAUSS(int nr, double ma[], double mb(], double mx|[]);//0 00000

//00000
int main()

{
//00000000000

get_element();

get_node();

//0000000000000O0O0O0
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42
43
44
45
46
47
48
49
50
51
52

54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86

gauss(NG);

//0000000000
static double Aij[N_node][N_node|={0.0};
for (int k=0; k<N_ele ; k++)

{
for (int i=0; i<N_node; i++)
{
int k1,k2;
kl=element[k][0]—1; k2=element[k][1]—1;
Aijfi][k1] += cal _Aijl(ik);
Aij[i][k2] += cal_Aij2(ik);
}
}

//0000000000000

int nr=N_node,nc;

int flag;

static double ma[N_nodexN_node];
double mb[N_node],charge_node[N_node];
nc=nr;
DATAIN("deni_keisu",nr,nc,ma,Aij);
double V_node[N_node];
get_boundary(V_node);
DATAIN2("V_electrode",nr,1,mb,V_node);
flag=GAUSS(nr,ma,mb,charge node);
if(flag) printf("\n 00 O O \n");

//00000000000O0O0O0O0O0O0O0COD0O0

cal_imaginary(charge_node);

//000000000000O0O00000O0O
FILE xfp;

fp = fopen( "charge_density.txt", "w" );
if( fp == NULL )

{
puts("OOooOoOooooaO-r );
return 1;
}
for(int j=0; j<N_image; ++j)
{
fprintf( fp, "%16.161f", charge_density[j]);
fprintf( fp, "\n" );
}
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87 fclose( fp );

89 return 0;

92 //00000
93 int get_node()

94 {

95 FILE *fp;

96 char 1Buf[512],*p;

97

98 if ((fp = fopen("node.txt","r")) == NULL){

99 fprintf(stderr,"0 000000000 \n");
100 return 1;

101 }

102 for(int m=0; m<N_node; m++ ) {

103 fgets( 1Buf, sizeof( 1Buf ), fp );

104 p = strtok( 1Buf, "uuuuu" );

105 for (int n=0; n<2 && p!=NULL; n++) {
106 sscanf( p, "%1f", &node[m][n] );
107 p = strtok( NULL, "Luuuu" );
108 }

109 }

110 fclose(fp);

111 return 0;

112 }

113

114 int get_element()

115 {

116 FILE xfp;

117 char 1Buf[512],*p;

118

119 if ((fp = fopen("element.txt","r")) == NULL){
120 fprintf(stderr,"0 000000000 \n");
121 return 1;

122 }

123 for(int m=0; m<N_ele; m++ ) {

124 fgets( 1Buf, sizeof( 1Buf ), fp );

125 p = strtok( 1Buf, "Luoouu" );

126 for (int n=0; n<2 && p!=NULL; n++) {
127 sscanf( p, "%d", &element[m|[n] );
128 p = strtok( NULL, " uuuu" );
129 }

130 }

131 fclose(fp);
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132
133 }
134

return 0;

135 void gauss(int m)

136 {
137
138
139
140

142
143
144
145
146
147
148
149
150
151

153
154

156
157
158

160
161
162
163
164
165

173
174
175
176}

if (m==2) {
x[0]=—0.5773502691896257;
x[1]=0.5773502691896257;

w([0]=1.0;

w([1]=1.0

}

if (m==3) {
x[0]=—0.7745966692414834;
x[1]=0.0;
x[2]=0.7745966692414834;

w[0]=0.5555555555555556;
w[1]=0.8888888888888888;
w[2]=0.5555555555555556;
}
if (m==4) {
——0.8611363115940526;
=—0.3399810435848563;
=0.3399810435848563;
—0.8611363115940526;

x[0]=—0.9061798459386641;
x[1]=—-0.5384693101056830;
x[2]=0.0;
x[3]=0.5384693101056830;
x[4]=0.9061798459386641;

w[0]=0.2369268850561892;
w[1]=0.4786286704993664;
w([2]=0.5688888888888889;
w[3]=0.4786286704993664;

[4]

w|4]=0.2369268850561892;
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177
178 double cal_Aijl(int i, int k)

179 {

180 int k1,k2;

181 double sum=0.0;

182

183 kl=element[k][0]—1;

184 k2=element[k][1]—1;

185

186 double le=sqrt(pow(node[k1][0]—node[k2][0],2.0)+pow(node[k1][1]—node[k2][1],2.0));

187

188 for (int a=0; a<NG ; a++)

189 {

190 double Ru=(1.0—x[a])/2.0xnode[k1][0]+(1.0+x[a])/2.0xnode[k2][0];

191 double Zu=(1.0—x[a])/2.0%node[k1][1]4+(1.0+x[a])/2.0*node[k2][1];

192

193 double r=nodel[i][0];

194 double z=nodeli][1];

195

196 double kk1=sqrt(4.0xr«Ru/(pow(r+Ru,2.0)+pow(z—Zu,2.0)));

197 double kk2=sqrt(4.0xr+«Ru/(pow(r+Ru,2.0)+pow(z+Zu,2.0)));

198 double al[5],b1[5],a2[5],b2[5];

199 al[O]—

200 b1[0 ]—bqrt(l pow(kk1,2.0));

201 aQ[O]

202 b2[0]= sqrt(l pow(kk2,2.0));

203 for (int n=0; n<4; n++) {

204 al[n+1]=(al[n]+bl[n])/2.0;

205 bl[n+1]=sqrt(al[n]*bl[n]);

206 a2[n+1]=(a2[n]+b2[n])/2.0;

207 b2[n+1]=sqrt(a2[n]*b2[n]);

208 }

209 double ellipl1=M_PI/(2.0xal[4]);

210 double ellip12=M_PI/(2.0xa2[4]);

211

212 double F=ellip11/sqrt(pow(r+Ru,2.0)+pow(z—Zu,2.0))—ellip12/sqrt(
pow(r+Ru,2.0)+pow(z+Zu,2.0));

213 double fie=(1.0—x]a])/2.0;

214 sum+=lexw[a]*fiexF;

215

216 }

217 return sum;

218 }

219

220 double cal_Aij2(int i, int k)
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221 {
222
223
224
225
226
227
228

229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249
250
251
252
253
254

255
256
257
258
259
260 }
261

int k1,k2;
double sum=0.0;

kl=element[k][0]—1;
k2=element[k][1]—1;

double le=pow(pow(node[k1][0]—node[k2][0],2.0)+pow(node[k1][1]—node[k2

1[1],2.0),0.5);

for (int a=0; a<NG ; a++)

{

}

double Ru=(1.0—x[a])/2.0xnode[k1][0]+(1.0+x[a]) /2.0xnode[k2][0];
double Zu=(1.0—x[a])/2.0xnode[k1][1]+(1.0+x[a])/2.0xnode[k2][1];

double r=nodeli][0];
double z=nodeli][1];

double kk1=sqrt(4.0%r*Ru/(pow(r+Ru,2.0)+pow(z—Zu,2.0)));
double kk2=sqrt(4.0%r*Ru/(pow(r+Ru,2.0)+pow(z+Zu,2.0)));
double al[5],b1[5],a2[5],b2[5];
al1[0]=1.0;
b1[0]=sqrt(1—pow(kk1,2.0));
a2[0]=1.0;
b2[0]=sqrt(1—pow(kk2,2.0));
for (int n=0; n<4; n++) {
aln+1]=(al[n]+bl[n])/2.0;
bl[n+1]=sqrt(al[n]*bl[n]);
a2[n+1]=(a2[n]+b2[n])/2.0;
b2[n+1]=sqrt(a2[n]*b2[n]);
}
double ellipl1=M_PI/(2.0xal[4));
double ellip12=M_PI/(2.0xa2[4]);

double F=ellipl1/sqrt(pow(r+Ru,2.0)+pow(z—Zu,2.0))—ellip12/sqrt(pow(r+
Ru,2.0)+pow(z+Zu,2.0));
double fie=(1.0+x]al)/2.0;

sum+=lexw[a]*fiexF;

return sum;

262 void DATAIN(const char name]], int nr, int nc, double ma[], double Aij[][N_node])

263 {
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264 int i,j;

265 for (i=0; i<nr; i++)

266 {

267 for (j=0; j<nc; j++)

268 {

269 ma[ncxi+j]=Aij[i][j];
270 }

271 }

272}

273

274 void DATAIN2(const char name]], int nr, int nc, double mal], double V_node][])
275 {

276 int ij;

277 for (i=0; i<nr; i++)

278 {

279 for (j=0; j<nc; j++)

280 {

281 ma[ncxi+j]=V _node[i];
282 }

283 }

284 }

285

286 int PIVOT(int *num, int nr, int k, double mal] )
287 {

288 int i;

289 double aa,bb;

290

291 snum=Kk;

292 aa=fabs(ma[nrxk+k]);

293 for (i=k+1; i<nr; i++)

294 {

295 if (fabs(ma[nr*i+k])>aa)

296 {

297 *num=i;

298 aa=fabs(ma[nr*i+k]);
299 }

300 }

301 if (fabs(aa)<=EPS) return 1;

302 if (*num==k) return 0;

303 for (i=k; i<nr; i++)

304 {

305 bb=mal[nrxk-+il;

306 mal[nrxk—+i]=ma[nrx(*xnum)-+il;
307 mal[nr#(*num)-i]=bb;

308 }
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309
310
311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334
335
336
337
338
339
340
341
342
343
344
345
346
347
348
349
350
351
352
353

return 0;
}
int GAUSS(int nr, double mal[], double mb|[], double mx|])
{ int i,jk;
int num;
double cc;
for (k=0; k<nr—1; k++)
{
if (PIVOT(&num, nr, k, ma)!=0) return 1;
if (num !=k)
{
cc=mb[num|; mb[num]=mbk]; mb[k]=cc;
}
for (i=k+1; i<nr; i++)
{
cc=ma|nrxi+k]/ma[nrxk+k|;
for (j=k+1; j<nr; j++)
ma[nr*i+j]=mal[nr*i+j]—ccxma[nrxk+j];
mb[i]=mbli]—ccxmb[k];
}
}
for(k=nr—1;k>=0;k——)
{
if (fabs(ma[nrxk-+k])<=EPS) return 1;
cc=0.0;
for (j=k+1; j<nr; j++)
cc+=ma[nrxk+j]*mx][j];
mx[k]=(mb[k]—cc)/ma[nrxk+k];
}
return 0;
}
double get_boundary( double V_node]])
{
FILE *fp;
char 1Buf[512],xp;
if ((fp = fopen("boundary_condition.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_node; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
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354 p = strtok( 1Buf, "Luuun" );

355 sscanf( p, "%1f", &V _node[m]);

356 p = strtok( NULL, "Luuuu" );

357 }

358 fclose(fp);

359 return 0;

360 }

361

362 void cal_imaginary(double charge_nodel[])

363 {

364 for (int k=0; k<N_ele; k++)

365 {

366 for (int a=0; a<NG; a++)

367 {

368 int i,k1,k2;

369 i=kxNG+a;

370 kl=element[k][0]—1;

371 k2=element[k][1]—1;

372

373 double le=sqrt(pow(node[k1][0]—node[k2][0],2.0)+pow (node[k1][1]—
node[k2][1],2.0));

374

375 charge_density[i]=lexw][a]*(charge_node[k1]*(1.0—x[a])/2.0+
charge_node[k2](1.0+x[a])/2.0);

376 }

377 }

378 }
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000000 94: field rotation.cppd 00O O0OO0ODOODODO

#include <stdio.h>
#include <iostream>
#include <math.h>

using namespace std;

//00000000

#define NG 5//0 000000000000
#define N_ele 1998//0 00

#define N_node 2000//0 0 O

#define N_image NG«N_ele//0 000000
#define N_cal 100//0 000

//0000000

double charge_density[N_image];//0000000000000000O0
int element[N_ele|[2];//0 0000000

double node[N_node][2];//00000000

double x[NG],w[NG];//0 0000000000

//0000000000

int get_element();//00000000O

int get_node();//00000000

void gauss(int m);//000000000000000O0OO
double get_calpoint(double calpoint[][2]);//000000000
double get_imaginary();//0 00000000000

double get_calpoint(double calpoint[][2]);//000000000
void cal_field(double E[|[2],double calpoint[][2], int i);//00000000000

//000

int main()

{
//0000000
get_element();
get_node();
gauss(NG);
get_imaginary();
double calpoint[N_cal][2];
get_calpoint(calpoint);

//00000000000000O0O0O0O0O0
FILE *fp;

fp = fopen( "field.txt", "w" );

if( fp == NULL )

{

puts("000000D0000");
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return 1;

//000000000000000000D
double E[N_cal][2]={0.0};
for(int i=0; i<N_cal; ++1i)

{
cal_field( E, calpoint, i);
fprintf( fp, "%16.161£,", E[i][0]);
fprintf( fp, "%16.161£,", E[i][1]);
fprintf( fp, "\n" );
}
fclose( fp );
return 0;
}
//00000
int get_node()
{
FILE xfp;
char 1Buf[512],*p;
if ((fp = fopen("node.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_node; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "Luuouu" );
for (int n=0; n<2 && p!=NULL; n++) {
sscanf( p, "%1£", &node[m]|[n] );
p = strtok( NULL, "yuuul" );
}
}
fclose(fp);
return 0;
}

int get_element()

{
FILE *fp;

char 1Buf[512],*p;

if ((fp = fopen("element.txt","r")) == NULL){
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90
91
92
93
94
95
96
97
98
99
100
101
102
103
104

106
107
108

110
111
112
113
114
115
116
117
118
119
120
121

123
124

126
127
128
129
130
131
132
133
134

fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_ele; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "Lououu" );
for (int n=0; n<2 && p!=NULL; n++) {
sscanf( p, "%d", &element[m][n] );
p = strtok( NULL, "yuuul" );

}
fclose(fp);

return 0;

void gauss(int m)

{

if (m==2) {
x[0]=—0.5773502691896257;

x[1]=0.5773502691896257;

w[0]=1.0;

w[l]=1.0

}

if (m==3) {
x[0]=—0.7745966692414834;
x[1]=0.0;
x[2]=0.7745966692414834;

w[0]=0.5555555555555556;
w[1]=0.8888333888888888;
w[2]=0.5555555555555556;
}
if (m==4) {
x[0]=—0.8611363115940526;
[1]=—0.3399810435848563;
[2]
[3]

jad

x[2]=0.3399810435848563;
x[3]=0.8611363115940526;

x[0]=—0.9061798459386641;
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136
137
138

140
141
142
143
144
145
146

153
154
155
156
157

159
160
161
162
163
164
165
166
167
168

170
171
172

174
175
176

178
179

[
x|
x[3

[

x[1]=—-0.5384693101056830;
2]=0.0;

]=0.5384693101056830;
x[4]=0.9061798459386641;

w|0]=0.2369268850561892;
w[1]=0.4786286704993664;

w|3]=0.4786286704993664;
w|4]=0.2369268850561892;

[
[
il
[
[

double get_imaginary()

{

FILE *fp2;

char 1Buf_2[512],%p2;

]

]
2]=0.5688888883388889;

]

]

if ((fp2 = fopen("charge_density.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");

return 1;

}

for(int m=0; m<N_image ; m++ ) {
fgets( 1Buf_2, sizeof( 1Buf 2 ), fp2 );
p2 = strtok( 1Buf_2, ",," );
sscanf( p2, "%1£", &charge_density[m]);
p2 = strtok( NULL, "Luuu" );

}
fclose(fp2);

return 0;

void cal_field(double E[][2],double calpoint[][2], int i)

{

for (int k=0; k<N_ele; k++)

{

for (int a=0; a<NG; a++)

{

int t,k1,k2;
t=kxNG+a;

kl=element[k][0]—1;
k2=element[k][1]—1;

I

double Ru=(1.0—x[a])/2.0xnode[k1][0]+(1.04+x[a])/2.0xnode]
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k2][0];

180 double Zu=(1.0—x[a])/2.0%node[k1][1]+(1.0+x[a])/2.0%node]
k2][1];

181

182 double r=calpoint|[i][0];

183 double z=calpoint[i][1];

184

185 double kkl=sqrt(4.0%r+Ru/(pow(r+Ru,2.0)+pow(z—Zu
2.0)));

186 double kk2=sqrt(4.0xr«Ru/(pow(r+Ru,2.0)+pow(z+Zu
2.0)));

187

188 double al[5],b1[5];

189 double a2[5],b2[5];

190 al[0]=1.0;

191 b1[0]=sqrt(1—pow(kk1,2.0));

192 a2[0]=1.0;

193 b2[0]=sqrt(1—pow(kk2,2.0));

194 double sum1=0.0,sum2=0.0;

195 for (int n=0; n<4; n++) {

196 al[n+1]=(al[n]+bl[n])/2.0;

197 bl[n+1]=sqrt(al[n]*bl[n]);

198 a2[n+1]=(a2[n]+b2[n])/2.0;

199 b2[n+1]=sqrt(a2[n]*b2[n]);

200 }

201 for (int n=0; n<5; n++) {

202 suml+=pow(2.0,n—1)*(pow(al[n],2.0)—pow(bl[n

1,2.0));
203 sum2-+=pow(2.0,n—1)x(pow(a2[n],2.0)—pow(b2[n
1,2.0));

204 }

205 double ellipK1=M_PI/(2.0*xal[4]);

206 double ellipK2=M_PI/(2.0xa2[4]);

207 double ellipE1=M_PI%(1.0—suml)/(2.0xal[4]);

208 double ellipE2=M_PI%(1.0—sum?2)/(2.0xa2[4]);

209

210 double FEr=—(((pow(Ru,2.0)—pow(r,2.0)+pow(z—Zu,2.0))*

ellipEl—(pow(r—Ru,2.0)+pow(z—Zu,2.0))*ellipK1) /(2.0%

rksqrt(pow(r+Ru,2.0)+pow(z—Zu,2.0) )*(pow(r—Ru

,2.0)+pow(z—Zu,2.0)))

211 —((pow(Ru,2.0)—pow(r,2.0)+pow(z

+7Zu,2.0))*ellipE2— (pow(r—Ru
,2.0)+pow (z+2Zu,2.0))*ellipK2
)/(2.0xr*sqrt(pow (r+Ru,2.0)+
pow(z+Zu,2.0))*(pow(r—Ru
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,2.0)+pow(z+Zu,2.0))));

212

213

214 double FEz=(z—Zu)*ellipE1l/(sqrt(pow(r+Ru,2.0)+pow(z—

Z1,2.0))*(pow(r—Ru,2.0)+pow(z—Zu,2.0)))

215 —((z+Zu)*ellipE2/ (sqrt(pow(
r+Ru,2.0)+pow(z+Zu
,2.0))*(pow(r—Ru,2.0)+
pow(z+Zu,2.0))));

216

217 E[i][0]+=charge_density[t]*FEr;

218 E[i][1]4+=charge_density[t]*FEz;

219 }

220 }

221 }

222

223 double get_calpoint(double calpoint[][2])

224 {

225 FILE *fp;

226 char 1Buf[512],*p;

227

228 if ((fp = fopen("calculation_point.txt","r")) == NULL){
229 fprintf(stderr,"0 000000000 \n");
230 return 1;

231 }

232 for(int m=0; m<N_cal; m++ ) {

233 fgets( 1Buf, sizeof( 1Buf ), fp );

234

235 p = strtok( 1Buf, "Loouu" );

236

237 for(int n=0;n<2;n++){

238 sscanf( p, "%1£", &calpoint[m][n]);
239 p = strtok( NULL, "yuuul" );
240 }

241 }

242 fclose(fp);

243

244 return 0;

245 }
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9.3 UUubobuuooouobobbon

Oo0ODO0O000o0DO0OO00OoboOoD C++00000 imaginary_3D.cpp
00000009500 00000000D000D0O C++00000 field-3D.cpp
gooooooeenon

imaginary 3D.cpp 000000000 OOOOO0OOOOOOOOOOO
0000000000 00000000000 node.txt O element.txt OO
0000000000D000000 boundary_condition.txt 00 00O OOO
00000 nodetxt0 300000000000 000O,000,300000
00000000 x,yzO0O0O00ODOOOOelement.txt0 3000000000
odilgo,2003000000b00O0000O00ODOOoOoO0oboOooooDoo
000000 0OOboundary_condition.txt 0 0O OO0, 0000000ODO0O
J0d00b0b0oboboobo0obOobdbdimaginary 3D.cppd0 0o
00000000 charge_quantity.txt 0 0 0O O O O O charge_quantity.txt O
00ooooooooo0o0ooooooo0goooooooooooog

000 Ofield 3D.cpp 0 0 0 0 0 O Ocharge_quantity.txt [0 caluculation_point.txt
0000000000000 000DO00D00D0 fieldtxtO00OD0OOO
O O caluculation- point.txt 0 30000000001 00,200,3000
00000ooooo0o0ouooD xyz000000fieldtxt0 30000
goboboboobo,0o0b3bdboboobooootd xyz00000D0DODOO
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000000 9.5: imaginary 3D.cpp0 000000000 O0O0O0DODOOO

1 #include <stdio.h>

2 F#include <iostream>

3 #include <math.h>

4 using namespace std;

5

6 /00000000

7 #define NG 5//0 000000000000

8 #define N_ele 3364//0 00

9 #define N_node 1740//0 00

10 #define N_.image N elex25//00 000000000

11 #define EPS 1.0e—5//000000000000

12

13 /0000000

14 int element[N_ele][3];//0 0000000

15 double node[N_node](3];//0 0000000

16 double space[N_ele];//00000000

17 double x[NG],w[NG];//0 0000000000

18 double charge_quantity[N_image|;//0 00 0000000000000
19
20 /00000000000
21 int get_element();//00000000
22 int get_node();//00000000
23 double get_boundary(double V_node[]);//0000000000
24 void calspace();//00000000
25 void gauss(int m);//000000000000000000O
26 double cal_Aijjl(int i, int k);//00000000
27 double cal_Aij2(int i, int k);//00000000
28 double cal_Aij3(int i, int k);//00000000
29 void cal_.imaginary(double charge node[]);//0 000000000000
30
31 //000000000CCOOO0O000000
32 void DATAIN(const char name[], int nr, int nc,double mal],double Aij[|[N_node]);//00 O

gooogog
33 void DATAIN2(const char name[], int nr, int nc,double mal],double V_node[]);//0 000
gooooo

34 int PIVOT(int *num, int nr, int k,double ma[));//0 000000

35 int GAUSS(int nr,double ma[],double mb|],double mx[]);//0 00000
36

37 /00000

38 int main()

39 {

40 //00000000000
41 get_element();

42 get_node();
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43
44
45
46
47
48
49
50
51
52
53

55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87

cal_space();

//00000000000000O0O0
gauss(NG);

//0000000000

static double Aij[N_node][N_node]=

for (int k=0; k<N_ele ; k++)
{

{0};

for (int i=0; i<N_node; i++)

{
int k1,k2,k3;
kl=element[k][0]—1;
Aij[i][k1] += cal_Aij1(i,k);
Aijfi][k2) += cal_Aij2(i,k);
Aij[i][k3] += cal_Aij3(i,k);
}

//0000000000000

int nr=N_node,nc;

int flag;

static double ma[N_nodexN_node];

k2=element[k][1]—1; k3=element[k][2]—1;

double mb[N_node],charge_node[N_node];

nc=nr;

DATAIN("deni_keisu",nr,nc,ma,Aij);

double V_node[N_node];
get_boundary(V _node);

DATAIN2("V_electrode",nr,1,mb,V_node);

flag=GAUSS(nr,ma,mb,charge_node);

if(flag) printf("\n 0 0O O O \n");

//0000000000000000O0O0

cal_imaginary(charge node);

//00000000000000O0O0O0O0O0

FILE *fp;

fp = fopen( "charge_quantity.txt", "w" );

if( fp == NULL )
{

puts("O0OOooOooooon);

return 1;

}

for(int j=0; j<N_image; ++j)
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100

102
103
104
105
106
107
108
109
110
111

113
114
115
116
117
118
119
120
121
122
123
124
125
126

fprintf( fp, "%16.161f", charge_quantity[j]);
fprintf( fp, "\n" );

}
fclose( fp );
return 0;
}
//00000
int get_node()
{
FILE *fp;
char 1Buf[512],*p;
if ((fp = fopen("node.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;
}
for(int m=0; m<N_node; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "Luuouu" );
for (int n=0; n<3 && p!=NULL; n++) {
sscanf( p, "%1f", &node[m][n] );
p = strtok( NULL, "uuuu" );
}
}
fclose(fp);
return 0;
}

int get_element/()

{

FILE xfp;
char 1Buf[512],*p;

if ((fp = fopen("element.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;

}

for(int m=0; m<N_ele; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p = strtok( 1Buf, "Luouuu" );
for (int n=0; n<3 && p!=NULL; n++) {
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134
135
136
137
138
139
140
141

143
144
145
146
147
148
149
150
151
152

153

154

155
156

158
159
160
161

163
164

166
167

169
170
171
172
173
174

sscanf( p, "%d", &element[m|[n] );
p = strtok( NULL, "uuuu" );
}
}
fclose(fp);
return 0;
}
void cal_space()
{
int a,b,c;
double 11,12,13s;
for (int i=0; i<N_ele; i++)
{
a=element[i][0]—1;
b=element[i][1]—1;
c=element[i][2]-1;
11=sqrt(pow(node[a][0] —node[b][0],2)+pow(node[a][1]—node[b][1],2)+pow(node
[a][2] —node(b][2],2));
12=sqrt(pow(node[b][0] —node[c][0],2)+pow(node[b][1]—node[c][1],2)+pow(node
[b][2]—node[c][2],2));
13=sqrt(pow(node[a][0]—node[c][0],2)+pow(node[a][1]—node[c][1],2)+pow(node|
al[2]—nodelc][2],2));
=(11412413) /2.0L;
spacel[i] = sqrt(s#(s—11)*(s—12)*(s—13));
}
}
void gauss(int m)
{
if (m==2) {
x[0]=-0.5773502691896257L;
x[1]=0.5773502691896257L;
w[0]=1.0L;
w[1]=1.0L;
}
if (m==3) {
x[0]=—0.7745966692414834L;
x[1]=0.0L;
x[2]=0.7745966692414834L;
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176
177
178

180
181
182

184
185
186
187
188
189
190

192
193
194
195
196
197

199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216

}

w[0]=0.5555555555555556L;
w[1]=0.88883888333388838L;
w[2]=0.5555555555555556L;

if (m==4) {

[0]

1]
x[2]=0.3399810435848563L;
x[3]=0.8611363115940526L;

w[0]=0.3478548451374538L;
w[1]=0.6521451548625463L;
w[2]=0.6521451548625463L;

(3]

w|3]=0.3478548451374538L;

3]=0.5384693101056830L;

}
]
]=0.0L;
]
x[4]=0.9061798459386641L;

[
[
X[
[
[

w[0]=0.2369268850561892L;
w[1]=0.4786286704993664L;
w[2]=0.5688888888888889L;
w([3]=0.4786286704993664L;

[4]=0.2369268850561892L;

w

double cal_Aijl(int i, int k)

{

int k1,k2.k3;

double sum=0;
kl=element[k][0]
k2=element[k][1]
k3=element[k][2]

)

for (int a=0; a<NG ; a++)

{

for (int b=0; b<NG; b++)
{

x[0]=—0.8611363115940526L;
x[1]=-0.3399810435848563L;

=—0.9061798459386641L;
x[1]=-0.5384693101056830L;

217 sum=sum-+0.25«w[a]*w[b]*(1+x[a])*space[k]*((1—x[a])*0.5) / (sqrt(pow
(—node[i][0]+node[k1][0]+0.5%(1+x[a])*(node[k2][0] —node[k1
J[01)+0.25%(1+x[a])*(1+x[b]) #(node[lk3][0] —node[k2][0]),2) +pow
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(—nodeli][1]4+node[k1][1]4-0.5%(1+x[a])*(node[k2][1]—node[k1
1[1])+0.25%(1+x[a])*(1+x[b])*(node[k3][1] —node[k2][1]),2) +pow
(—node[i][2]+node[k1][2]+0.5%(1+x[a]) *(node[k2][2] —node[k1
1[2])4+0.25%(1+x[a])*(1+x[b])*(node[k3][2] —node[k2][2]),2)));

218 }

219 }

220 return sum;

221 }

222

223 double cal_Aij2(int i, int k)

224 {

225 int k1,k2 k3;

226 double sum=0;

227 kl=element[k][0]—1

228 k2=element[k][1]—1;

229 k3=element[k][2]—1

230

231 for (int a=0; a<NG ; a++)

232 {

233 for (int b=0; b<NG; b++)

234 {

235 sum=sum+0.25xw[a]*w[b]*(1+x[a])*space[k]*((1+x[a])*(1—x[b
1)%0.25) /(sqrt(pow(—nodeli][0]+node[k1][0]+0.5%(14+x[a])*(node]
k2][0] —node[k1][0])+0.25%(1+x[a])*(14+x[b])*(node[k3][0] —node[k2
110]),2)+pow(—node[i][1]+node[k1][1]+0.5%(1+x[a])*(node[k2][1]—
node[k1][1])40.25%(1+x[a])*(14+x[b])*(node[k3][1]—node[k2
1[1]),2)+pow(—node[i][2]+node[k1][2]40.5%(1+x[a])*(node[k2][2] —
node[k1][2])+0.25x(1+x[a])*(14x[b])*(node[k3][2] —node[k2
I2).2))):

236 }

237 }

238 return sum;

239 }

240

241 double cal_Aij3(int i, int k)

242 {

243 int k1,k2.k3;

244 double sum=0;

245 kl=element[k][0]—1;

246 k2=element[k][1]—1;

247 k3=element[k][2]—1;

248

249 for (int a=0; a<NG ; a++)

250 {

251 for (int b=0; b<NG; b++)
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252
253

254
255
256
257
258
259
260
261
262
263
264
265
266
267
268
269
270
271
272
273
274
275
276
277
278
279
280
281
282
283
284
285
286
287
288
289

}

return sum;

sum=sum-+0.25xw][a]*w[b]*(1+x[a])*space[k]*((1+x[a])*(1+x[b
1)%0.25) / (sqrt(pow(—node[i] [0]+node[k1][0]+0.5%(1+x[a] )*(node]
k2][0]—node[k1][0])+0.25%(1+x[a])*(14+x[b])*(node[k3][0] —node[k2
1[01),2)+pow(—node[i][1]+node[k1][1]+0.5%(1+x[a] )*(node[k2][1]—
node[k1][1])+0.25%(14+x[a])*(1+x[b])*(node[k3][1] —node[k2
1[1]),2)+pow(—node[i][2]4+node[k1][2]40.5%(1+x[a])*(node[k2][2] —
node[k1][2])40.25(1+x[a])*(14x[b])*(node[k3][2] —node[k2
121),2)));

void DATAIN(const char name|], int nr, int nc,double ma[],double Aij[][N_node])

{

int i,j;

for (i=0; i<nr; i++)

{

for (j=0; j<nc; j++)

{

ma[nexi-Hj]=Aij[i][j];

void DATAIN2(const char namel], int nr, int nc,double ma[],double V_node[])

{

int i,j;

for (i=0; i<nr; i++)

{

for (j=0; j<nc; j++)

{

mal[nc*i+j]=V_nodeli];

int PIVOT(int *num, int nr, int k,double ma]] )

{

int i;
double aa,bb;

snum=Kk;
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290
291
292
293
294
295
296
297
298
299
300
301
302
303
304
305
306
307
308
309
310
311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334

aa=fabs(ma[nrxk—+k]);
for (i=k+1; i<nr; i++)

{
if (fabs(ma[nrxi+k])>aa)
{
aa:fabsy(ma[nr*iJrk] );
}
}

if (fabs(aa)<=EPS) return 1;
if (*num==k) return 0;
for (i=k; i<nr; i++)

{
bb=ma[nrxk-+i];
mal[nrxk—+i]=ma[nr#(s*num)-il;
ma[nr*(knum)+i]=bb;

}

return 0;

int GAUSS(int nr,double mal],double mb[],double mx][])
{ int ijk

int num;
double cc;
for (k=0; k<nr—1; k++)
{
if (PIVOT (&num, nr, k, ma)!=0) return 1;
if (num !=k)
{
cc=mb|[num]; mb[num]|=mb/[k]; mb[k]=cc;
}
for (i=k+1; i<nr; i++)
{
cc=ma[nrki+k]/malnrxk+k];
for (j=k+1; j<nr; j++)
ma/[nr*i+j]=malnr*i+j]—ccxma[nrxk+jl;
mbli]=mb[i]—cc*mbl[k];
}
}
for(k=nr—1;k>=0;k——)
{
if (fabs(ma[nrxk+k])<=EPS) return 1;
cc=0.0;
for (j=k+1; j<nr; j++)
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335
336
337
338
339
340
341
342
343
344
345
346
347
348
349
350
351
352
353
354
355
356
357
358
359
360
361
362
363
364
365
366
367
368
369
370
371
372
373
374

375
376

cct+=ma[nrxk+j]*mx[j];
mx[k]=(mb[k]—cc)/ma[nrxk—+k];
}

return 0;

double get_boundary(double V_node[])
{

FILE *fp;

char 1Buf[512],*p;

if ((fp = fopen("boundary_condition.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
return 1;

}

for(int m=0; m<N_node; m++ ) {
fgets( 1Buf, sizeof( 1Buf ), fp );
p= strtok( IBuf, "Luoou"” )§
sscanf( p, "%1f", &V _node[m]);
p = strtok( NULL, ", o00" );

}

fclose(fp);

return 0;

void cal_imaginary(double charge_node[])
{
for (int k=0; k<N_ele; k++)
{
for (int a=0; a<NG; a++)
{
for (int b=0; b<NG; b++)
{
int i,k1,k2,k3;
i=kxpow(NG,2)+axNG+Db;
kl=element[k][0]—1;
k2=element[k][1]—1;
k3=element[k][2]—1;

charge_quantity[i]=0.25xspace[k]«w[a]«w[b]*(1+x[a] ) *(
charge node[k1]*((1—x[a])*0.5)+charge_node[k2]*((1+x[a
))*(1—x[b])*0.25)+charge node[k3]((1+x[a])*(1+x[b
1)%0.25));
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377 }
378 }
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OOoooO0O 9.6: field3D.cpp0 0 0D0O0OO0O0O0DOOOO

#include <stdio.h>
#include <iostream>
#include <math.h>

using namespace std;

//00000000

#define NG 5//0 000000000000
#define N_ele 3364//000

#define N_node 1740//0 0 0

#define N_image N_elex25//0000000
#define N_cal 30//0000

//0000000

double charge_quantity[N_image|;//0 00 0000000000000
int element[N_ele][3];//00000000

double node[N_node][3];//00000000

double x[NG],w[NG];//0 0000000000

//0000000000

int get_element();//00000000O

int get_node();//00000000

void gauss(int m);//000000000000000O0OO
double get_calpoint(double calpoint[][3]);//000000000
double get_imaginary();//0 0000000000000 OO0O

void cal_field(double E[|[3],double calpoint[][3], int i);//0 0000000000

//00000

int main()

{
//0000000
get_element();
get_node();
gauss(NG);
get_imaginary();
double calpoint[N_cal][3];
get_calpoint(calpoint);

(/000000000000 0000000
FILE *fp;
fp = fopen( "field.txt", "w" );
if( fp == NULL )
{
puts("000O00OO0DOO" ),

return 1;
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85
86
87
88
89

//00000000000000O0O0O0O0O0

double E[N_cal][3]={0.0L};
for (int i=0; i<N_cal; i++) {

cal_field( E, calpoint, i);

fprintf( fp, "%16.161f,", E[i][0] );
fprintf( fp, "%16.161£,", E[i][1] );
fprintf( fp, "%16.161£,", E[i][2]);
(

fprintf( fp, "\n" );

gclose( fp);
return 0;
}
//00000
int get_node()
{
FILE xfp;

char 1Buf[512],*p;

if ((fp = fopen("node.txt","r")) == NULL){

}

fprintf(stderr,"0 000000000 \n");

return 1;

for(int m=0; m<N_node; m++ ) {

}

fgets( 1Buf, sizeof( 1Buf ), fp );

p = strtok( 1Buf, "ol );

for (int n=0; n<3 && p!=NULL; n++) {
sscanf( p, "%1f", &node[m][n] );
p = strtok( NULL, "uuuu" );

fclose(fp);

return 0;

int get_element()

FILE xfp;
char 1Buf[512],*p;

if ((fp = fopen("element.txt","r")) == NULL){

fprintf(stderr,"0 000000000 \n");

return 1;
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90 }

91 for(int m=0; m<N_ele; m++ ) {

92 fgets( 1Buf, sizeof( 1Buf ), fp );

93 p = strtok( 1Buf, "yuuun" );

94 for (int n=0; n<3 && p!=NULL; n++) {
95 sscanf( p, "%d", &element[m|[n] );
96 p = strtok( NULL, "uuuu" );

97 }

98 }

99 fclose(fp);

100 return 0;

101 }

102
103 void gauss(int m)

104 {

105 if (m==2) {

106 x[0]=—0.5773502691896257;
107 x[1]=0.5773502691896257;
108 w[0]=1.0;

109 w[1]=1.0

110 }

111 if (m==3) {

112 x[0]=—0.7745966692414834;
113 x[1]=0.0;

114 x[2]=0.7745966692414834;
115

116 w[0]=0.5555555555555556;
117 w[1]=0.8888888888888888;
118 w[2]=0.5555555555555556;
119 }

120 if (m==4) {

121 x[0]=-0.8611363115940526;
122 x[1]=—-0.3399810435848563;
123 x[2]=0.3399810435848563;
124 x[3]=0.8611363115940526;
125

126 w([0]=0.3478548451374538;
127 w[1]=0.6521451548625463;
128 w[2]=0.6521451548625463;
129 w[3]=0.3478548451374538;
130 }

131 if (m==5) {

132 x[0]=—0.9061798459386641;
133 x[1]=—-0.5384693101056830;
134 x[2]=0.0;

165



136
137
138

140
141
142
143
144
145

153
154
155
156
157

159
160
161
162
163
164
165
166
167
168

170
171
172

174

175

176

178

x[3]=0.5384693101056830;
x[4]=0.9061798459386641;

w|0]=0.2369268850561892;
w|1]=0.4786286704993664;
=0.5688888888888889;
w[3]=0.4786286704993664;
w(4]=0.2369268850561892;

[0]
(1]
w[2]
8]
[4]

double get_imaginary()

{

FILE *fpl;

char 1Buf_1[512],%p1;

if ((fpl = fopen("charge_quantity.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");

}

return 1;

for(int m=0; m<N_image ; m++ ) {

fgets( 1Buf_1, sizeof( 1Buf_1 ), fpl );

pl = strtok( 1Buf_1, ",," );

sscanf( pl, "%1f", &charge_quantity[m]);
pl = strtok( NULL, "Loo" ):

}

fclose(fpl);

return 0;

void cal_field(double E[][3],double calpoint[][3], int i)

{

for (int k=0; k<N_ele; k++)

{

for (int a=0; a<NG; a++)

{

for (int b=0; b<NG; b++)

{

int t,k1,k2,k3;
t=kxpow(NG,2)+axNG+b;
kl=element[k][0]—1;
k2=element[k][1]—1;
k3=element[k][2]—1;

E[i][0] += charge_quantity[t]*(—(—calpoint][i][0]4+node[k1l
][0]4-0.5Lx(1.0L+x[a]) x(node[k2][0] —node[k1][0])+0.25L
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179
180

181
182

183
184
185

186 }

187

*(1.0L+x[a])*(1.0L+x[b])*(node[k3][0] —node[k2][0])))/
pow (pow(—calpoint[i][0]+node[k1][0]+0.5Lx(1.0L+x[a] ) *(
node[k2][0]—node[k1][0])40.25L+(1.0L+x[a])*(1.0L+x[b
])*(node[k3][0]—node[k2][0]),2)+pow(—calpoint[i][1]+node
[k1][1]40.5L#(1.0L+x[a])*(node[k2][1]—node[k1][1])+0.25
L#(1.0L+x[a])*(1.0L+x[b])*(node[k3][1] —node[k2][1]),2)+
pow (—calpoint|i][2]+node[k1][2]+0.5Lx*(1.0L+x[a])*(node|
k2][2]—node[k1][2])+0.25Lx(1.0L+x[a])*(1.0L+x[b])*(
node[k3][2]—node[k2][2]),2),1.5);

E[i][1] += charge_quantity[t]*(—(—calpoint[i][1]4+node[k1
][1]40.5L*(1.0L+x[a]) *(node[k2][1] —node[k1][1])+0.25L
*(1.0L+x[a])*(1.0L+x[b])*(node[k3][1]—node[k2][1])))/
pow (pow (—calpoint[i][0]+node[k1][0]40.5L+(1.0L+x[a] ) *(
node[k2][0] —node[k1][0])+0.25Lx*(1.0L+x[a])*(1.0L+x[b
])*(node[k3][0] —node[k2][0]),2)+pow(—calpoint[i][1]+node
[k1][1]40.5L*(1.0L+x[a])*(node[k2][1]—node[k1][1])40.25
Lx(1.0L+x[a])*(1.0L+x[b])*(node[k3][1] —node[k2][1]),2)+
pow (—calpoint[i][2]+node[k1][2]4+0.5Lx(1.0L+x[a])* (node|
k2][2]—node[k1][2])+0.25Lx(1.0L+x[a])*(1.0L+x[b])*(
node[k3][2]—node[k2][2]),2),1.5);

E[i][2] += charge_quantity[t]*(—(—calpoint][i][2]+node[k1l
][2]4-0.5Lx(1.0L+x[a]) *(node[k2][2] —node[k1][2])+0.25L
*(1.0L+x[a])*(1.0L+x[b])*(node[k3][2] —node[k2][2])))/
pow (pow(—calpoint[i][0]+node[k1][0]+0.5Lx(1.0L+x[a] ) *(
node[k2][0] —node[k1][0])+0.25Lx*(1.0L+x[a])*(1.0L+x[b
) *(node[k3][0]—node[k2][0]),2)+pow(—calpoint[i][1]+node
[k1][1]+0.5L*(1.0L+x[a])*(node[k2][1]—node[k1][1])+0.25
L#(1.0L+x[a])*(1.0L+x[b])*(node[k3][1] —node[k2][1]),2)+
pow (—calpoint|i][2]+node[k1][2]+0.5Lx*(1.0L+x[a])*(node|
k2][2]—node[k1][2])+0.25Lx(1.0L+x[a])*(1.0L+x[b])*(
node[k3][2]—node[k2][2]),2),1.5);

188 double get_calpoint(double calpoint]][3])

189 {

190
191
192
193
194

char 1Buf[512],*p;

if ((fp = fopen("calculation_point.txt","r")) == NULL){
fprintf(stderr,"0 000000000 \n");
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195 return 1;

196 }

197 for(int m=0; m<N_cal; m++ ) {

198 fgets( 1Buf, sizeof( 1Buf ), fp );

199 p = strtok( 1Buf, "Loouu" );

200 for(int n=0;n<3;n++){

201 sscanf( p, "%1f", &calpoint[m][n]);
202 p = strtok( NULL, " uuuu" );
203 }

204 }

205 fclose(fp);

206 return 0;

207 }
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